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DIRECTIONS: In the given question find the answer figure in which question figure is embedded
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D.ad0®! Brele! et

D.None of the above
D.oer &S = 0 Yo a0k

Answer: CaIag %l
C.Both the above
C.usis =S
3 1o SR R A 2R B R s o — :
AMRTd
B.7d 7d
C. ¥R
D.3RMd
Answer: AWRTd
4 Out of the given options, choose the one which is the correct passive voice of the sentence given below.

| remember my father taking me to the theatre.

A.l remembered how | were being taken to the theatres by my father.
B.I remember how | was being took to the theatres by my father.
C.I remember being taken to the theatre by my father.

D.l remember having being taken to the theatres by my father.

Answer: C.l remember being taken to the theatre by my father.

5 Choose the word which is opposite in meaning to the given word.
ROBUST
A.Feeble
B.Strong

C.Vigorous
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D.Sturdy

Answer: A.Feeble
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DIRECTIONS: Study the given information carefully and answer the given questions:

Seven Dances -Hip Hop, Tap Dance, Yangko Dance, Belly Dance, Kathak, Salsa and Ballet Dance are
to be held on seven consecutive months (starting on January and ending on July) not necessarily in the
same order. Only one dance can be held on one month. Only two dances will be held after Ballet
Dance. Only two dances will be held between Salsa and Ballet Dance. Only three dances will be held
between Tap Dance and Kathak. Tap Dance will not be held on July. Hip Hop will be held before Belly
Dance and Yangko Dance (not necessarily immediately before). Yangko Dance will be held after Belly
Dance (not necessarily immediately after).

Which Dance will be held on January?
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A.Salsa
Al

B.CU
B.Tap Dance
B.ilS

C.hdh
C.Kathak
C.8es

D.Ru gy
D.Hip Hop
D.¢b
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Answer: D%’qgh
D.Hip Hop
D.b
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7 Out of the given options, choose the one which is the correct indirect speech of the sentence given
below.

The teacher said to his students, “Did you not like my story yesterday?”

A.The teacher asked his students if they did not like his story yesterday.
B.The teacher asked his students if they did not liked his story the day before.
C.The teacher asked his students if they had not liked his story the day before.

D.The teacher asks his students if they have not like his story the day before.

Answer: C.The teacher asked his students if they had not liked his story the day before.
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DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The book is either informative or entertaining.
A. The book is informative

B.The book is not informative

C.The book is entertaining

D.The book is not entertaining
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A.BD
A.BD
A.BD

B.DA
B.DA
B.DA

C.CB
C.CB
C.CB

D.AB
D.AB
D.AB

Answer: B.DA
B.DA
B.DA
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In the given figure if Tnangle represents healthy people, Square represents old persons
and Circle represents men then What is the number of those men who are healthy but
not old?
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A3
B. 4
C.6

D.2

Answer: D.2
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DIRECTIONS: In the following question a sheet (square circletriangle) of paper is folder and punch is
made. When unfolded the paper sheet looks like the question figure See the answer figures and select the
one that follows the manner in which the paper is folded and punch is made,
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India is the
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largest country in the world by area.
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DIRECTIONS: Study the given information carefully and answer the given questions:

Seven Dances -Hip Hop, Tap Dance, Yangko Dance, Belly Dance, Kathak, Salsa and Ballet Dance are
to be held on seven consecutive months (starting on January and ending on July) not necessarily in the
same order. Only one dance can be held on one month. Only two dances will be held after Ballet
Dance. Only two dances will be held between Salsa and Ballet Dance. Only three dances will be held
between Tap Dance and Kathak. Tap Dance will not be held on July. Hip Hop will be held before Belly
Dance and Yangko Dance (not necessarily immediately before). Yangko Dance will be held after Belly
Dance (not necessarily immediately after).

Which Dance will be held immediately after Yangko Dance?
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C.Tap Dance
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D.Ballet Dance
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B.Salsa
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7 Sf1aT AB =t 7T

In the given figure, O is the center of the circle. Radius of the circle is 17 cm. If OC
= 8cm, then the length of the chord AB is:

AB g OC = )leJumB,§|-L—:JLnL£Ml?uulleiji:-L—;ﬁJnlngij -Wﬂﬂ\_ﬁf.sj
1= wilaal G5

Answer: B. 30 T

15 IT: feeied Taiaiee avTe o STeR dlal.
DIRECTIONS: Find the odd one out from the given alternatives.
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A19
A.19
A19

B.28
B.28
B.28

C.37
C.37
C.37
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D.45
D.45
D.45

D.45
D.45
D.45

4 fohar oifdes Jui+ HTae FHId SMdpdiar wed Sid
Any plane figure bounded by three or more than three lines is known as
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A.Pentagon
Ao Ry

B.3F&H

B.Octagon
B.oX &Sy

C.dgyul
C.Polygon

C.oXds
D.NCHIH

D.Hexagon
D.osS LSy

C.dgysl
C.Polygon

C.oSNd s

THT HIGAT eI a1 Wielarte! HRam Ugfid gd?
Of the following which one pollutes the air of a big city?
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B.Chromium

B.(mes5 (=

chlRr
C.Lead
C.(M(z

D.$ieRIH

D.Calcium

D.(ests (2

chR
C.Lead
C.(¥(z

GET IT ON
Google Play

18 110 Hiex fd SRIUMRT ¢4, 60 TohrHl/dmIT=aT Tl Urad 318, TR I@aR YiseredT 170 Hiex ¢dl UR

HOTTTe! fadr fabdt e anTaia?

A train, 110 meter long, is running at a speed of 60 kmph. How many seconds does it take to cross

another train, 170 meter long, standing on parallel track?

11004 S G sl S disha e 1706568 02 6 ) s - = o da e Dl (S A5g8 6 S 5860 0n f Sl el S
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A.15.6
A.15.6

B.16.8
B.16.8

C.A17.2
CA7.2

D.18
D.18

Answer: B.16.8
B.16.8
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19 e Treie Arferpdld TgTes TsaT Qe
6,7,9,13,21, ...,

DIRECTION: Find the missing number in the following series.
6,7,9, 13, 21, .....,
x5S i ol ez Sda by,

6,7,9,13, 21, ...,

A.25
A.25
A.25

B.29
B.29
B.29

C.37
C.37
C.37

D.32
D.32
D.32

Answer: C.37
C.37
C.37

20 qEaT: Teoedr SHiEYT Avf 9u SO 999 3T was
DIRECTIONS: Complete the series by choosing right figure from the given choices.
S oo oS bl S 58 B musns —w pio llal B Ls by
Problem Figures
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A BT B TT 4T3, 318, CBl A T 3118 3MTg, D 81 C a1 d8Id 318 HTfOI F 8T A 1 & 38, F I C Aad A1d

DbIg?

A is B's brother, C is A's mother, D is C's father and F is A's son. How is F related to C ?

BA 2w S AC 2« SCD Lyl QL CAF mGu K FIC e aid) WS

A.3MS
A.Mother
Al

B.gdd HIS
B.Cousin
B.a) s

c.gdudr
C.Nephew
C.l

DA

D.Grandson
D.Gg

DAY

D.Grandson
D.bs

A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic

expression ‘In a flutter’ in the sentence given below?
We were all in a flutter waiting to meet the President at our school rally.

A.In a nervous, confused, or agitated state.
B.In a calm, quiet and relaxed state
C.Highly confident and poised

D.None of the above
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Answer: A.In a nervous, confused, or agitated state.

23 6% Ufd 9% XM F. 1,250 B IgHH fbal IUHS F. 1,400 BlSa?

In what time will Rs.1,250 amount to Rs.1,400 at 6% per annum?

A2 I

A.2 years
A2 Jw

B.3 3%

B.3 years
B.3 Jw

c.4dy

C.4 years
C.4 Jw

D.5 a%

D.5 years
D.5 Juw

Answer: A2
A.2 years
A.2 Ju

24 RG] IRUSHdeed Siedd degl o arHes A3, UTdaedl dle <l COATaIad sied SRIdrd
When psychologist discuss maturation, they are referring to stages of growth that are impended by

A = Ui @8l G B e o S SO IS Als e Gl (S Laigdiog e S S Sl e o )b S G sl Gl ke s

ANIdAT

A.conservation
A Lias

B.famf

B.nature

B.c ki
C.ImMuT

C.nurture
C.lagis
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D.I1dd
D.continuity

D.duslusi

Answer: D.JIldd
D.continuity

D.duslus

25

Answer:

26

g =Y

481293162 — 72134626 = ?

Simplify:

481293162 — 72134626 = ?

ol salu

481293162 — 72134626= ?

A.409158536
A.409158536
A.409158536

B.409158436
B.409158436
B.409158436

C.409158236
C.409158236
C.409158236

D.409158136
D.409158136
D.409158136

A.409158536
A.409158536
A.409158536

3 Gl T T 3Rdrd of
The problem child is generally one who has—

o rm Vs e g pshgle
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27

Answer:

AUY Frsad Are!

A.An unsolved problem
A i sdd Ja P Sal

B.3(diRIh YU HHHT G-I S¥dld

B.A poor heredity
B.Lélaa e SO

C.Rd Heargd Adrd
C.A poor home environment
C.dsnbe 8 L8 e

DS W8 YIS, fdhal 981ur 3rara
D.A younger brother or sister
D.or b e Usen

AUY Frsad Are!

A.An unsolved problem
A/J-Lum ol d; J:\:_ k_g\ﬁ‘

fefored Rrearyc 9ald 3¢ Thd HI0Id 3MMR.................

The smallest unit in a digital system is a

gt e Sl 53 (s s i e s Jin

ASISC
A.Byte
A&l

B.frdlese
B.Kilobyte
[SRERATS

c.ds
C.Word
C Ll

D.fee
D.Bit
D.&u

D.fee
D.Bit
D.&u
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28 GIHT: U URATAT Uh U faymriad IR fa4™ siigd saiararedl A, B, C 311f0T D 31 IR {34 3fed.
HHAR fAumR St RaeT samed wr fau gu=an faumTeT gaad, oiftr gl faum afdamesean
faymTIed AfSd e,

feTeei® Thar THSdeR 3R fdhar 387 offe.
A. feTexie IUSAER ST,

B. favexie Je1 oMR.

c. favexi® de1 el

D. feresie TSaeR Al

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The director is either sane or insane .
A. The director is sane

B . The director is insane

C. The director is not Insane

D. The director is not sane

in S s Ses Sluie paand g R Sl S 63 ) ue co ) e s an Sea o aleas Sl G Vs syl
op Githe S b S e Bhie e 53 Hl by Se ol gl (S Alea £ pugd Aleas Sy (L

RLL o U 5514 G5
A= Ul S5 305

B J8 s i3

C = L B 5.

D= L Bl S 503

A.AD
A.AD
A.AD

B.AC
B.AC
B.AC

C.CB
C.CB
C.CB

D.AB
D.AB
D.AB

Answer: B.AC
B.AC
B.AC
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29 qaar Toer 3Far arelr (R J@¢ew) got aXoarrdl, AL B.C. 301D a1 9] gaard
AT 3T fast

DIRECTIONS: Select a suitable figure from the four altematives that would complete the figure matrix.

=l JaSe o8 Al Ko oS Kb pumas —u e ol lal K s ol

olad
A oD
> 8] ?
| A= ®
A. (A)
B. (B)
C. (C)
D. (D)

Answer: A. (A)
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30 ET: faciedn Arfedia Hieoigdad SR HR1 T WTelid e 3 &
I1d I - fgU 81U, <U S, Aih! ST, ddil S, HYD, FIRT 0T deic S el Iid Afg= dariure
ST BIIR SR (ARG g2 81 9ot 3RIR WU) I ThTd HHH giald 8 TReid 16l T
AR $de Thd o SIS Bdl 9IS, Wdhd. SaiC SIIFAR Had GiF J ST dball ST,
T ST Sele ST G $dw G I ST Bl SITdid. ¢d S 30T By T Hacs i
T ST Pl ST, S0 T Saded STAIfoId gI0TR ATeY. 30 810 St S 311for Ty Jog=an ameft
ST Pl STsd (T el 3clial 3 ATgY). Seit SR Wbl ST SNfoId Hal Siisd (T 3eft
ST 3R ATEY).
SR T4 9T T JUMHTE HHER AT et R Job dsIuzdat gaqd fodidt Radt it aeia gta?

DIRECTIONS: Study the given information carefully and answer the given questions:

Seven Dances -Hip Hop, Tap Dance, Yangko Dance, Belly Dance, Kathak, Salsa and Ballet Dance are
to be held on seven consecutive months (starting on January and ending on July) not necessarily in the
same order. Only one dance can be held on one month. Only two dances will be held after Ballet
Dance. Only two dances will be held between Salsa and Ballet Dance. Only three dances will be held
between Tap Dance and Kathak. Tap Dance will not be held on July. Hip Hop will be held before Belly
Dance and Yangko Dance (not necessarily immediately before). Yangko Dance will be held after Belly
Dance (not necessarily immediately after).

If all seven Dances are held in the alphabetical order, the positions of how many will remain unchanged
as compared to the original schedule?

o e SOl K ) (aady e lad S Slagles b aa ik iy

03 &% e s58) Osiaee JURT il uilS iy 5 Ll eSS ¢l i il SEAL el i il G — il
Gl Sl i ea e s Sl G S sna Ui et 5 UL 1S O e Sila S Siaie (e (s S o e Y s
S s diaie (a3 50 Ca e (e )y S i3 Ly ol Ll 8 (g0 diaie GuilS 50 Gy aay S (il Ly . LSl LS Sinia
Db OIS ol el 1S b G s (e ne (Y s i) 1S uilS (. K (59 Snie il (4 G e e pd S S )5l il
Ge 3 gy sh s s8) Bgy dimie 2ay S ailS Gy il KL (2 L ssme i sh 0 s8) Bl i e ol S
(= o sosra

O Bt S8 e S S O sES Ge lie S J 0 Jaal 55 e il LS diaie (a0 i (S oS Gigoa S Gl g R
S5

ATH
A.Three
Ao

B.f-0er SRa
B.More than three
B.oab) —w 0

CUdh
C.One
C.d

D.HIUAE! ATl

D.None
D.uox &S

Answer: Dﬁmﬁ%ﬁ:ﬂ'ﬁ

D.None
D.uox &S
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Answer:
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faur:
afgamdte TgE gETyd gDl drde I e dled 3Ted.

FHiral DN
|. e =1 G| ATTITATIRET IR el Ul
II. AfgEaTS! 3@IC AR ol Ulfgol.

Statement:

Head injuries among women two wheeler drivers is increasing at a high rate.

Course of actions:
I. Women should be discouraged from riding two wheelers.
Il. Helmets should be made compulsory for women

ol

= b s Al (608 U 05 S me e Ol sA sl 3 Db S

Jae AanY:
l e s b Abass (S s by 55 S ol
Il-d\et{-jd 22 J\)gwjy%dléu#‘};.

ATHE | 38R 3T
A.Only | follows

A Cipal & o &Y

BT Il SJERUT il 31T
B.Only Il follows
B. Ciya |l & 5 &Y

C.UHR | fobal 1l SEFA 38
C.Either | or Il follows
ColLIE 5 &Y S e

D.I fhar Il SE10®! HTEHET SFIER0T & ATa!

D.Neither | nor Il follows
D. 1o 118 5 G LY g2 (P5S — Une

BT || AR B 31T
B.Only Il follows

B. Ca Il & 5 &Y



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

32 a1 I FUR STdihgA 17 o1 hHBIR dR ld! Sodid g 15 T hHIDBIAR 3. TR ITd THUT bt
Tl 3MTed ?

In a row of children Samir is 17th from the left end of the row and Jyoti is 15th from the right end of the
row. How many children are there in the row?

2 S e S, 26515 Gk ey (SUS (S )5l 20517 e ik Gl (S S jpan ae S (S sem
.
=

A.30
A.30
A.30

B.31
B.31
B.31

C.29
C.29
C.29

D.34
D.34
D.34

Answer: B.31
B.31
B.31

33 Choose the word which is most similar in meaning to the given word.
PRECEDING

A.Previous
B.Later
C.Latter

D.Beyond

Answer: A.Previous

34 AT A1 eaTan [aearif Rrea HiordT 2
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ATTa=g

B.Re&dl
C. 3= dl

D.URaxif

Answer: C.3ddl

35 Out of the four alternatives, choose the one which can be substituted for the given words/sentence.
A hollow space in a wall for a statue or ornament

A.Niche
B.Effigy
C.Sermons

D.Brick

Answer: A.Niche

36 Tferey &R0 § Ush &R0T 318 orer At HRa.

Alitus policy is a policy which prohibits harassment

= Sy S @) = el o ¢ oully Gl

ARG T

A.Physical harassment
AP PWEN

B.AMNI® MYUT
B.Mental harassment
B.d

C.<iffes e
C.Sexual harassment
C.oi

D.UTU®! Thg! ATa!

D.None of these
D. b S o O


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

Answer: C.W QﬁWUT

C.Sexual harassment
C.omin

37 TET: faciean Arfedia Hresiydd gy HR1 T WTeld Teie 3L &
1d I - 30 819, TU ST, Tl ST, Il ST, HUD, AT T seic ST T A1 Al AFdre
AT BIOTR TR (FTHARIIRIT g3 Bhe oot 3RIR TUd) d ThTd HHM BITd § TRoMd g, Tl
e 30T Saie S B Hac G T I bt Sidid. <0 S1-9 301 HYd JrAId Hacs i
T SRR el ST, <F - JaHed SHTATd SIVIR ATel. i3 810 el S0 ofoy dvep! e omeft
&Mﬁﬂ&?%ﬁﬂ (@ et e 3 ATRY). i SR Tieh! ST AT Bl STsd (i 3Meft
3 ).
SR AT feeiedn deaTuaedbr STYRTER fAfRiy gHR hgarixil d&fid srid. Jrevmm, dde s 1

DIRECTIONS: Study the given information carefully and answer the given questions:

Seven Dances -Hip Hop, Tap Dance, Yangko Dance, Belly Dance, Kathak, Salsa and Ballet Dance are
to be held on seven consecutive months (starting on January and ending on July) not necessarily in the
same order. Only one dance can be held on one month. Only two dances will be held after Ballet
Dance. Only two dances will be held between Salsa and Ballet Dance. Only three dances will be held
between Tap Dance and Kathak. Tap Dance will not be held on July. Hip Hop will be held before Belly
Dance and Yangko Dance (not necessarily immediately before). Yangko Dance will be held after Belly
Dance (not necessarily immediately after).

If Salsa is related to February in a certain way based on the given schedule. Similarly, Ballet Dance is
related to May. In the same way, Tap Dance is related to which of the following months?

o Dl S Ol R 0 gl (aady e O S Slaglae 3 aa ke il

03 B 5o e ssin) st JUAD il (a3 Ly sh Lalls oSS IS Ly ¢l SEGL (il el - uilS
Q13 ) G (e mizn SOV - 0 e 59 Ligy (e i i QS S G e e S dieie (e (s i o35 pe Y 5
S s diaie (a3 5 (o e e gy S GuilS Ly ol Ll 85 Siaie GuilS 50 Gy amy S il Ly LSl LS Sinia
Db o3 ol e 1S Gl G B (g e Y s 2 IS il i . S (g diaie il (5 G pea e pd S S sl LuilS Gl
Ot 3 1 sh (5 58) W daia 2my S aild i il SEIL (2 i s g s s s s) B o pailS S&L
(= o sosra

S i e (313 1S Gl ol ) - Bl s 558 Ll sk e Sy Sl (S Jsd K R
€ s e O O i (3lat 1S il Gl e a5l ol

AT
A.March
Az ok

B.H
B.May
B.s

C.Thgar

C.February
C.sos i
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D.5H

D.June
D.os>

Answer: ATR
A.March
Az ok

38

Answer:

R3S g 3 HEIR

RIT stands for

=58 A S S

AT 3% wile T

A.Reverse Ink Blot test
AL Sl Sl S G s

B.RHle gqa<di ¢
B.Remote inventory tests
B. ol A i) Sisayy

C ISP =e o
C.Rorschach Ink Blot test
C. oot &by Sl ayl

D XgISd] T
D.Raymond’s inventory tests
D.Cuas (5 s 53l (S Siay

CAREEs =i e
C.Rorschach Ink Blot test
C. ot &by SOl )
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39 2011 H&8 3SI3MT (ODI) I¢s HY FSHar I YR fohdre =T S HI0T Blar?

Who was the captain of the Indian Cricket team when it won the ODI World Cup in 20117

YNV 08 S 1S S S i e g ol iz ALl S 85 Jiii ) 23 05 5 e cin e

ARG TRTe

A.Sourav Ganguly

A S SR ) g



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

Answer:

40

Answer:

B.gd gfds
B.Rahul Dravid
B.3s3 )

C.UH T Yt
C.MS. Dhoni

C_‘;"}AJ U‘“ﬁ‘ H‘

D.3{d ez

D.Anil Kumble
D. s

C.TH TH Uit
C.MS. Dhoni

C_@}AJ o H‘

T SHfdeh T TSt red] IdebTal Jeg Sal
The biological death of a patient means the death of tissues of the

Ciga (S sl S = Al 1S Gse (il (S g ye S

AAUS
A.Kidney
Ao R

B.gad
B.Heart
B.l8

cHg
C.Brain
C.gl

D.UGY

D.Lungs
D.! 5S¢

c.Hg
C.Brain
C.¢la
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gfeaid 3Tard 99 8 65 a4 3MTg 31101 aTd 35 8 318, TR dledi aurd areT JamRit SRy o)

el

Present age of father is 65 years and his son is 35 years old. Find the ratio of the age of the father to

age of his son?

ptre il 1S jae (Sl e Allie S jee (S Sn Sl 2 JW 35 (S A S0l ) 2 W B5 see sasase (S Gl

fo s

A13:7
A.13:7
A13:7

B.7:8
B.7:8
B.7:8

C.15:7
C.15:7
C.15:7

D.7:15
D.7:15
D.7:15

A13:7
A.13:7
AA13:7

13741 x 17=7

13741 x 17="?

13741 x 17="7

A.234617
A.234617
A.234617

B.234597
B.234597
B.234597

C.233607
C.233607
C.233607
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D.233597
D.233597
D.233597
Answer: D.233597
D.233597
D.233597
43 Wreitate! gieel 2req e,
A8l
B.dd
C.I1dd
D.ggY
Answer: Add
44 2
EES }{+1 =2, d¥ %: ?
X I+ +3
2
If x+l=2, then #:'?
X I+ 5+ 3
i et 5. 1
A i
e oo B am F s
A.1/2
B.1/3
C.7/14

D. Wit BIurde! et

None of These
Uﬂ"{-.’ L.f‘}s Pl ® 8]

Answer: D. Eﬂ?ﬁ?ﬁﬁ H%Uﬁ'sﬁ :ﬂﬁ
None of These
UM RS e e )
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AT @Ietd Uy fGden maieyT i sfeR/Rrsa/ReTm Fasr.

facien I (6, 8, 2)

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

Given set: (6, 8, 2)

.wﬁu&uﬁlﬁluﬁﬁa:ddb&:\gddcwd\ydﬁ)g‘)duL\.«.n

2,8 ,6) :Cun LS L)

A.(8, 3, 2)
A.(8, 3, 2)
A.(8, 3, 2)

B.(8, 10, 2)
B.(8, 10, 2)
B.(8, 10, 2)

C.(2,
C.(2,5,9)
C.(2,5,9)
D.(12, 7, 4)
D.(12, 7, 4)
D.(12, 7, 4)

)

O O O
O © ©

B.(8, 10, 2)
B.(8, 10, 2)
B.(8, 10, 2)

ST T[0T € FHATIU0! Qeifores el | ReER-efId SR

IQ scores are generally

= s s yegile S (S SIS s

A FHHId HHI

A.least

AeS oS
B. QU

B.perfectly

B_‘;:ﬁMJJ

correlated with academic performance

1 oshle sl 58 i
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C. 3T SIRd
C.highly
C.oaly) o

D.HIthdh YHTUM
D.moderately
D.z sk Juize

Answer: B.Eﬂfrqaf

B.perfectly
B_éﬁu).}

47 DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in
meaning to the underlined word from the given options.
Years of doing meticulous research had made her very precise in her working methods.

A.Vague
B.Exact
C.Accurate

D.Correct

Answer: A.Vague

48 SEITG ST g & TR qad 3Mg
Ustad Zakir Hussain is an eminent player of —

On SO ) e Sl Cppmen SID i

ATdR
A.Sitar
A

B.Hila
B.Sarod
B.as

C.ddcll

C.Tabla
C.Als
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49

Answer:

50

Answer:

D gt Hiurae! et

D.None of these
D.osd 25S = el

C.dddr
C.Tabla
C.Als

RS g T IATHS 31T
The Gir Forest is in the state of -

= U e K S

A XTSRRI
A.Rajasthan
Aokl

B.7JoRTd
B.Guijarat

B.ol 8

C.3UNTe
C.Chhattisgarh
C.aK Luiiea

D.3fISrn
D.Odisha
D~

B.I[SRId
B.Guijarat

B.ol 8

FHEAT a1 saran TS Wsg HIvrT 2

A Sgfife
B.§91d¢

C.3d
DR

B.d-ldc

GET IT ON
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51 16 TS 1671 sl AR 377, 16 T 1675 Al B IR 3?
Thursday falls on 161 April 1671, what will be the day on 16" April 16757

16 85 0 L sS S 1675 diyl 16 = Slymen 5S 1671 doy

ATHAR
A.Monday
Az

B.HI&AR
B.Tuesday
B.J%

C.gHaR

C.Wednesday
Cax

D.X[hdR
D.Friday

[DJFETEN

Answer: B.HIGdR
B.Tuesday
B. %

52 WA 3Rl AT HIOT ?

AT FEUR qaedrd e Hal disfaa.
B.Je= o Tu 4t ust gl

C Bl SIH! TehdTa Hell BR TS T,
D.Ue &I faadTd Ur&d YUIR 3R dred.

Answer: B.YeHl aﬁ’f@gq St ugdl gl
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54

TG G URRIT HheuHT gi-il uRafad et
The two step concept of attitude was proposed by

‘s e 53 (two step) L LS LS iy axpd S

ATH.TH. HigdH
A.S.M. Mohsin
A.S.M. Mohsin

BRITaEy
B.C.H. Rice
B.C.H. Rice

C.3T YhR
C.Uday Shankar
C.Uday Shankar

D.H1fean
D.Bhatia
D.Bhatia

ATH.TH. HigdH
A.S.M. Mohsin
A.S.M. Mohsin

T fded T aTTes o SRR Hlal.
DIRECTIONS: Find the odd one out from the given alternatives.

oS N S e o e e ol 8 e

AQY : 33
A.Tree : Stem
AL\:} : kL\'AJ.J

B. AR : Sl
B.Face : Eye

Bl i o

Cd3R : qHd
C.Chair : Cycle
C.d5 1 s S

DI : G
D.Plant : Flower
D.dse: s

GET IT ON
Google Play
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Answer: C.I3R : gHd
C.Chair : Cycle
C.d5-}3l- . g;"‘)s

55 fcar: el feara uy guf wiferdar smemfa 3med. a1 Udes Hifdiehd, HTal 31eR 8T 3MTed. Iy uafg
fasT ura T 3ifees 3ieR TTETe YUy, Hifdiddid Ydcd e 3feR fAasT .

- -WX - - WWY - --WZ - - - -

DIRECTION: Questions given below are based on the letter series. In each of these series, some letters
are missing. Select the correct alternative. If more than five letters are missing, select the last five letters
of the series:

- - -WX--WWYy---WZ----

el Cingm B i SR g, o0 Gin (S (e L o Jalie gy e i OV s 2 3 i Gl
i S gl Al

---WX--WWY---WZ----

A.zwwyw
A.zwwyw
A.zwwyw

B.zwwww
B.zwwww
B.zwwww

C.zxyzw
C.zxyzw
C.zxyzw

D.zwwwx
D.zwwwx
D.zwwwx

Answer: B.zwwww
B.zwwww
B.zwwww
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56 SO RIS )0 U ) RO I SR R ar #Aifgdia i
el Yol 36 &l

A TN r A N r

If '+ means "x','-" means '+')x’ means '+ and'+' means
following questions based on this information.

L

, then answer the

LR TERTRTI FLTIPPP LT I PER SRS PRI PRI & SN i PUREE | IS SLIW LS | AP SN S PSRN, " S T
6-9+8x3+20=7
A. -2

B.6

Answer: C. 10

57 Wciiaie! gafd deT 3qurics JNe
Find the smallest of the following fractions

02 B0 S (s o i s U S 1 a2

A.5/6
A.5/6
A.5/6

B.23/37
B.23/37
B.23/37

C.51/49
C.51/49
C.51/49

D.43/54
D.43/54
D.43/54

Answer: B.23/37
B.23/37
B.23/37
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58 I Wl fededn faur (A) Sfor SR (R) I1SY, Wreid Ut 9 uatg fAge:

fau™ (A): 3maur fasir sarsT Yeuare 3t s,
PRI (R): FDHTIUET TS AT HART B!,

DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from the
following:

Assertion (A): We see lighting before hearing it.
Reason (R): Light travels faster than sound.

Ol 28 s iy (A) Ll (R) GiS e Joliie gosia s Gae Jid aa e o ) S sy

Ol (A): O S8 )y o e e
~as (R): - = S8 e s Al S ) g

AT (A) 31T (R) T 3R 10T (R) (A) T T THHROT 3178
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A (A) U3 (R) Ul ox a5 (R) (A) = alia g Ca n (S

B.aIg (A) 31T (R) W 3118, TR (R) (A) T IF WBIHRT AT
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B. (A) 25l (R) o5 cow mmam 05352 (R) (A) = i by G a0 S

C.(A) ¥ 3iTg, g (R) WIS 3118
C.(A) is true, but (R) is false
C.(A) SN« = = (R) ke
D.(A) 1¢ 3118, T (R) T 378
D.(A) is false, but (R) is true

D. (A) & « = Bk (R) = s

Answer: AT (A) TUT (R) T T 30T (R) (A) T IRG TPIHRUN 37T
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A. (A) L3 (R) L) un coa Usise (R) (A) = sbiay sy (S

59 SR QRABIA JAHMYH Bed, TAAMUATH Aead iR e, UG IR cla! e, Tl al Ak Ted
3T AT HIgex WWed. dR TETeT Wsar 31 NYUARITST T Wiehiatd! HIuKd 3 aTas Ydhal?

If book is called newspaper, newspaper is called dictionary, dictionary is called television, television is
called magazine and magazine is called computer. Which of the following we can use find the meaning
of a word?

S B e 5 e LS Fane € Ty gl Al 58 050 Gl ey ol S il el Sl il Sl R
s 5 xS ) S5 S 5305 e
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APIGR
A.Computer
A SisnesS

B.UGHI

B.Dictionary
B.oal

C. Q%

C.Book
C.os

D.dlt

D.Television
D.oks &:‘Jj

Answer: D._cgfc_ep[

D.Television
D.oks &:‘ﬁ

60

Answer:

YRAH Aldd QREHR faoid Haer?

Choose the Indian Nobel Prize Winners?

= e aladl dasd S A jler S

A o gardf

A.Kailash Satyarthi
A b (3S

B3 ¥
B.Amartya Sen

B.osw Wl

C afiate! gt

C.Both of the above
C..Suss

D g0} BIurag! et

D.None of these
D.uoy &S = e

C afate! gt

C.Both of the above
C..Suss

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

e

61

Answer:

62

5,4,7d 4 T TR 3(Tg:

The average of 5, 4, 7 and 4 is:

547 2 buy K4 )

A6
A.6
A6

B.2
B.2
B.2

C5
C5
C5

D.8
D.8
D.8

C.5
C.5
C.5

(196)8 x (14)18 =(14)?
(196)8 x (14)18 =(14)?

(196)8 x (14)18 =(14)?

A.30
A.30
A.30

B.16
B.16
B.16

C.64
C.04
C.64

D.25
D.25
D.25

GET IT ON
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Answer: A.30
A.30
A.30

63 faaeh srgameed : g + offtT + | T 3HIdhs 12 36 ; TR 12+ 6 x 5 + 2— 3 Ted fohell 2

Given interchanges: signs + and +, and numbers 12 and 6; then the value of 12 +6 x5 +2 -3 is

cl.ﬁ‘.\aj‘é3-2+5x6+12}356)}\12MJJ‘$+J}\+QLA)\Q:£JL.\SC‘\§C‘\:IJ

A25
A25
A25

B.1.5
B.1.5
B.1.5

C.3
C3
C.3

D.0.5
D.0.5
D.0.5

Answer: B.1.5
B.1.5
B.1.5

64 IT: feoiedn T ovTe o STe) Flal.
DIRECTIONS: Find the odd one out from the given alternatives.

S G S S o e e e K ihan

AT
A.Deal
A.dsS

B.4@
B.Seal
B.ds
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Answer:

65

Answer:

c3a
C.Zeal
C.d»

D 3@
D.Real
D.du

D3r@
D.Real
D.du

T Wi gyiAe fooedr gty d6fia sier/=rsae Hasr.

Ifia ;=1

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

MUSIC : TUNE ::

oS e aailailfch o adleie s Jaliie 83 (e s i3 ~a e 1Can

Ol SHse

AW : fohobe
A.Game : Cricket
AcS S: a8

B.®IT : -]
B.Poetry: Dance
B. u=b) i soeld

C./ g : dIdd
C.Dance : Rhythm
C.Ju ; il

D.4H : 3
D.Religion : Food
D.US : cuda

C./ [ . drd
C.Dance : Rhythm
C.Ji: uils
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66

Answer:

67

GET IT ON
Google Play

3eh T 3 T, 4 Tt 3111 5 it A1 A Ivm= a19] 3ied. b Ivman e Tefdg e daR e

AP &Fhe BT 3-d?

The sides of a triangle are respectively 3 cm, 4 cm and 5 cm. What is the area of the triangle formed by

joining midpoint of sides of the triangle?

¢ s Ui i) LS 1S i S S5m S ol S g S sl oS Clie G fise i 5 s) o4 3 sl (s sk S i (S

A.6 THR2
A.6 cm?
A6 S (s g2

B.3 THI2
B.3 cm?
B.3 A (i qa e

C.3/2 942
C.3/2 cm?
C.3/2 fie s 1 3

D.3/4 JHR2
D.3/4 cm?
D.3/4 fx i g e

C.3/2 JHR
C.3/2 cm?
C.3/2 fime S g 3

AT Wieid Uy fGde maiged e sfeR/RTsa/Re Hasl.

6:222::9:7?

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

6:222::9:7

.wﬁu&my/kﬂ/uyﬁﬂ&:mddbﬁac\gdacwd\ydﬁ)gjmL\A.u

6:222::9:7?

A.210
A.210
A.210

B.336
B.336
B.336
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68

Answer:

69

C.343
C.343
C.343

D.333
D.333
D.333

D.333
D.333
D.333

GET IT ON
Google Play

SRS B SAMT 3TU0 THath YUl g HRUGTITS] S0 10T Uil HIad B giaddl?

If you are interested to eliminate lopsidedness in lecture method what method would you like to adopt?

M LS bl iyl L € Sl 8 G S ) uenld (e S Sl e (e JS A5k S sl Gl R

A.3YUT SBg1 faTa 3oy

A.You will instill humorous feelings in it
A= i) S clds and e e el

B.3MTUUT fawaTell Sicdd URUMGrRIT &7

B.You will change it as highly motivational
B.S (oS dns sk S e 5 Ll O

C.31TUTI YT fareh Siig

C.You will add it with demonstration
C. = 08 el iy asilas (aa Gl il

D. 31U A5 3{fdeh qHTHD §-1q
D.You will make it more factual
D. 28 5 ailaiasy a3y 50 i

C.3MMYU UTiéfep Sitg

C.You will add it with demonstration
C. L LS el iy il e ol il

3{IhH: 8, 16, 24, 32............. < 83 Ug

Find the 8th term of the sequence: 8, 16, 24, 32

32,24 16 ,8 ¢ =S o sedl (S gm0

e
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Answer:

70

A.60
A.60
A.60

B.64
B.64
B.64

C.68
C.68
C.68

D.72
D.72
D.72

B.64
B.64
B.64

OB H;

5375 x 756 = ?

Multiply:

5375 x 756 = ?

U QP pal

5375 x 756 =7

A.4063500
A.4063500
A.4063500

B.4577500
B.4577500
B.4577500

C.3434550
C.3434550
C.3434550

D.5456500
D.5456500
D.5456500

GET IT ON
Google Play
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Answer:

71

Answer:

72

A.4063500
A.4063500
A.4063500

GET IT ON
Google Play

DIRECTIONS: Complete the series by choosing right figure from the given choices.

Problem Figures
i Q.__~A
(&N (= R ] (& ] a) iﬂU
[¢] [+ Q L]
1 2 3 4
Answer Figures
on naoa 0 a0
L] (4] iy | L&
h = J
(A} (B) () (D)
A. (A)
B. (B)
C. (C)
D. (D)
D. (D)

HEaT Geedl ARISHT da! (HHaE) FEUIRT HMdhd! s el
DIRECTIONS: Find the odd figures from the given four figures.

1o [ X [

A B C D



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

Answer:

73

Answer:

ICRIGE
e ST e HTaH IRTUATTST HEMT 8l 3R,

Haral I:
|. Fd WIS QT gie faebet Sl

II. 94 THIFBRI W+ Ad gi-e fadba aifgs.

Statement:

Public sector units are becoming increasingly expensive to maintain.

Course of actions:
I. All of the public sector units should be sold.

II. All the loss making public sector units should be sold

ol
= L e U B Qe UigS 5 )y gy S 8 Sy

Jae AanY:
Lol 0 g G Saw Sy Wl

oinls o e Qg 8w Sy ol Iy Sl (e glaili

ATHE | 38R 3T
A.Only | follows

A Cipal K o &Y

B.Wad Il SRR R 318
B.Only Il follows

B. iy [ & 5 &Y

C.UHR | fval 1| SEEA 318
C.Either | or Il follows
C.ILIE 5 Y S e

D.I fhar Il SE10®! HTEHE! SFERUT & ATa!

D.Neither | nor Il follows
D. 1o 118 5 G LY g2 (P5S — Une

D.I fhar Il SE10®! HTEtE! SFERUT & ATa!

D.Neither | nor Il follows
D. 1o 118 5 G LY g2 (P5S — Une

GET IT ON
Google Play
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74

Answer:

75

WU DI HOT U] TR grTa?

Which of the following particles constitute atom?

T 2 IS S o) 0 i € s (e b~ e

AZdagH

A.Electrons
Ao 5SS

B.Mer
B.Protons
B.oss

C.gcH
C.Neutrons
C.0ssss

D.aRaUP! Id
D.All of the above
D.e = o

D.aRaUP! 9
D.All of the above
D.m = e

FAEIAT HITAT YT ST 3182
Which part of the plant is turnip?

?dujfﬁlﬁm\.ud}stsmﬁ

AT
A.Root

A~

B.5d

B.Flower
B.Jse

C.33
C.Stem
C.l

D.hd
D.Fruit
D.d&

GET IT ON
Google Play
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Answer:

76

Answer:

77

Answer:

AT
A.Root

L

A~

GET IT ON
Google Play

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,

choose the one which can be substituted for the given phrasal Verb.

Mr. Sen’s appartment has been broken into thrice, even though he had good locks on the door.

A.renewed

B.painted

C.entered forcibly

D.plastered

C.entered forcibly

HRATT ST G&ft DI 376 —
The National Bird of India is —

et B K Ol

AT

A.Flamingo
A Sie b

B.HR
B.Peacock
B.os

c.femoft

C.Sparrow
C.l3

D.TR=S
D.Eagle
D.clse

B.HR

B.Peacock
B.osx
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Answer:

79

gua=ig uroft @t e

Classes of Vertebrates are

o n s Vertebrates o gred S

A.TE Tt 3nfor gef
A.Mammals and birds
A, U5 sl uslatie

B. AT 3101 TRUCUIR yroft
B.Fish and reptiles

B. usila s Ky sl Slexe

C . JHITR groft
C.Amphibians
C. vy ez

D.acus! Id
D.All of the above
D. s YU s i

D.acus! Id
D.All of the above
D. Vb s jaie

GET IT ON
Google Play

U] Gallebs dlc aragd, Hifgd Tordl, <8t Gerll O1ean afsdi= Upadn Gardt Geril siig” 79 difga=
Udd 1 garied ATd H1a?

Pointing towards a girl, Mohit says, “This girl is the daughter of only child of my father.” What is the
relation of Mohit’s wife to that girl?

A LS o ST OIS o (S e " o (A (S o s S Qb2 e ST TS S Cusad S S e L Gk (S (ST

fles

AGa

A.Daughter
A S

B.3MS
B.Mother
B.ow

CHH
C.Aunt
C.A
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80

Answer:

81

D.§8I0l

D.Sister

D.ow

B.3MT8

B.Mother

B.ok

GET IT ON
Google Play

Out of the given options which best expresses the meaning of the given Proverb?
Strike while the iron is hot.

A.Take full and prompt advantage of any of the favourable circumstances

B.When the metal is hot it is most tough

C.Hammers can be made from hot iron

D.ltis always advisable to stay away from a person when he is in a furious mood

A.Take full and prompt advantage of any of the favourable circumstances

CEARIE IS ST

The word Buddhi comes from

=il gl A Ladl

A<
A.Hindi
Ay

B.I%pd
B.Sanskrit
B Sewin

C.3¢
C.Urdu
C.s)

D.HR13!
D.Marathi
D.e)

language
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Answer:

82

Answer:

B. I d
B.Sanskrit
B Sewin

Fill in the blank with the correct article.

I'm learning to play piano.

A.the
B.a
C.an

D.No article required

A.the

GET IT ON
Google Play
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83 I S1dqul ufkwe i Hroarret, @ et (P), (Q) (R), (S) 30T (T) B UM a1e’ Ay SfIehdM
T HT; IR ATeid T ST .

P. $¥U de@THs UTgH, 30 T4 g ATdl Aol Ud Bid. AT RIS 818, [oaRT S dIgd Sac ]
AdIdh S TesTal.
%ﬁwwwm,wﬁ,wﬁmmwm&mmwaw
R. TEIUP! Q IGd TN SMEIRT! fewd gich. U0 GgTd Sadh HIdT, Jara! M0 $=0 fGud g,

S. T&T AdHAIHS U Fadh gIdl, T Qo St UTdal. Aadhd ot A9 St Igaat.

T. T S el SRt 3981 giall [ ATel Yax, Tihe g4 fawdrd.

JTET HeaR WAaud! HIvTd e Y S-T?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. All the other ducklings made fun of the ugly one. Unhappy in the farm, the poor duckling ran away to
a river nearby.

Q. It bends to drown but abandons the idea when sees its reflection in the river, which was not an ugly
duckling, but a beautiful swan!

R. Of the ten, nine ducklings looked like the mom. The tenth one was big, grey and ugly.

S. A farmer had a duck, which laid ten eggs. Soon, they all hatched.

T. At the river, where it wanted to get drowned, it sees white, beautiful swans.

Which of the following should be the FOURTH sentence after rearrangement?

s 4 01 i (P (Q)F (R) (S) sl (T) sl o€ 3 oo gy i 5 oo 8 28 i g i b 58
sl S

P8 L S 0305 olam coml Ui pe S | ¢ ) 13 S a8 Iy & geats o Hsn Sl ol

Q. Sl WS el o 5n Dosad a5 (slen oy 0o Loy il cn La S (3l siandl ) gl B i 81 Sl g
L ey ) g 531

R. e Cisad ol YIS I8V 5 ) g iz sk (S b (il o S5 55 o 3 o,

S. Ao s il e alln | 0 o S (e s o feday SO Gy S laine ),

T, LS G oy gom 53 e il ol Lila LisdS o Ol e Ln,

§ s Lo Leion alea L (058 2y S v e yiojlso

AT
AT
AT

B.S
B.S
B.S

C.P
C.P
C.P
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D.Q
D.Q
D.Q

Answer: A.T
AT
AT

84 TehTRI UFHTHAT 30 Hiex dTad dl, Sldidhs aasdl HTfOT 20 Hick T, dl G561 STaide daell 10T 30 Hiex
TTerd el 9 Al ISidichs desal ST iddl. R dl Siegl Uil degl I dls $3ed =i gid?

Prakash walked 30 meters towards West; he took a left turn and walked 20 meters. He again took a left
turn and walked 30 meters. He then took a right turn and stopped. Towards which direction was he
facing when he stopped?

S0 8 S s 150 Gl os ey Sy S 30 L) 150 0l ez es Dy Sie 20 L) 156 0l Sy e 30 b (S ke IS

A&
A.South
A WEPLEN

B.3t}
B.North
B.Jli

cgd

C.East
C.35%

D3GR Hifgdl
D.West
D. = v S 83

Answer: A.ETE‘FUT
A.South
A.csis
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85

Answer:

GET IT ON
Google Play

T8 (U Hert) N1 (T arrh) feel weud, “grean Hiar aeia & HIZam 3 Ul 3ed.” 71 3g

R geiariad Ard Hr?

Ruhi (a girl) said to Rishika (a girl),” Your brother’s father is my mother’s husband. How Rubhi is related

to Rishika’s father ?

WS el S, a2 sl 18 Jle s QL 1S lg o )i e (ST LS s S ) 2 (S ) a sy

P PRI

ASBIUl

A.Sister
Ao

B.gal

B.Daughter
B..i

C.gauft

C.Niece
C..>le

D.®I%h
D.Aunt

D.s>»

B. gl

B.Daughter
B.
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86

T WIed Udd U, fiF faum feelt sed, SR IR ey sied S |, 11, 11 30T IVaR sifard
HA 3Y. AU 1A SRTedT quareh fawrd srqelt a¥iel, § I /e dieRd WA, JHrad: J1d
Tawﬁﬁam,mﬁwﬁﬁmmﬁmﬁwwam.

faem -

HTE! I fATRY 3117,

HTe! faoTRY /Y .

T4 Qe AN ST,

fm:

|. TSI TE Y SR

II. PIUTATGT ]IS HERT ¥,

III. PTG fAoTRT T ST

V. ST! AFTST faSRY ST

DIRECTION: In each of the following questions, three statements followed by four conclusions marked
I, I, [l and IV are given. Consider the statements to be true, even though they seem to be at variance
with the commonly known facts and find out which of the given conclusion(s) logically fallow(s) the
statements, disregarding the commonly known facts.

Statements:

Some shirts are trousers.
Some trousers are not shorts.
All shorts are costly.

Conclusions:

|. Some shirts are shorts.

[I. No shirt is costly.

lll. Some trousers are shorts.
IV. Some costly are trousers.

o O K il ae S oa gn Ko Gl 0 e Jlsse SO n i aaaie sl [l e | o) IV 2 ol —
OS AS S B sl s ) ol gSe S Bilia aslae yy oshoale oy aa SIS e g g Sl o LSS
i gl o Bilia g slaa g skl o IS 0 5 oS @iy g s lala @l 8 o

Sl

da:

| -On S8 ol g8

. - = o e panad S S
1. o S sty g2

V. -0 05ty (el g2

A Fdos sy | Fad e
A.Only | follows

A rpal| = UGS Goom

B.dos (hY || Fad e,
B.Only Il follows

B.csall =2 U8 som
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C.Faes sy | 3for 1 Fed s,
C.Only I and Il follow
C.(C) Gra | s Il - =58 5w

D.PIUdg! Fshy fgd T,
D.None follows
D. = ¢ Gilae (S5 S

Answer: D.®IUIdg! sy fHgd TN,
D.None follows
D. = u Gillae (S

87 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
The soldier laid down his life for the country.

A.saved
B.betrayed
C.sacrificed

D.stole

Answer: C.sacrificed

88 fordar: wrefler Sedieh SeaAiAed Feat AegreaT (2) Sl 10T e Jed T 687

DIRECTIONS: What approximate value should come in place of question mark(?) in each of the
following question?

Slgle g apotie J Py pae Jipne LS G35 () ~Sala g asSle i asd 5 L, S £.

28.74 x124++/26 =? )
A. 600
B. 650
C.720

D. 626

Answer: C.720
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Answer:

90

Answer:

- gt Tewd fovor Qadiar Sraavell. a1 araTdid fa=suT Sieswr.

oS SITOT HTST STl BT SoTd?
What do fruit and vegetable provide us?

§ 2SS ml B LS pas e ) Jeg

AHRST
A.Roughage

B. Gl

B.Minerals
B.biaa

C SliaTad

C.Vitamins
C.cxbs

D. 0! Id
D.All of the above
Dt e )

D. 0! Id
D.All of the above
D.ston e )

A gafdt
B.HgW
C.fozur
D.3{acRait

B.de¥d

GET IT ON
Google Play
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91

Answer:

92 AT Wetd uHiHe e AT Tefed &R T Hasr.

AXZC: ? :: HUWJ: MPRO

g =Y T

5.62 + 112.8304 + 4321.4321 + 9219.7860 + 542.3256 = ?

Simplify:

5.62 + 112.8304 + 4321.4321 + 9219.7860 + 542.3256 = ?

ol ol

5.62 + 112.8304 + 4321.4321 + 9219.7860 + 542.3256= 7

A.14301.9941
A.14301.9941
A.14301.9941

B.14201.9941
B.14201.9941
B.14201.9941

C.14401.9941
C.14401.9941
C.14401.9941

D.14391.9941
D.14391.9941
D.14391.9941

B.14201.9941
B.14201.9941
B.14201.9941

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related group of letters from the given alternatives.

AXZC: ? :: HUWJ: MPRO
.wﬁgﬁacﬁ;ﬁd@\&q}ﬁﬁwdawcﬁdjcwd\ydﬁlﬁéjm:L\A.u

AXZC: ? :: HUWJ: MPRO

A.FPGY
A.FPGY
AFPGY

B.FDEH
B.FDEH
B.FDEH
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Answer:

93

Answer:

C.FPZG
C.FPZG
C.FPZG

D.FPHY
D.FPHY
D.FPHY

B.FDEH
B.FDEH
B.FDEH

Geitel HeaEed Tl 9 6d7?
How manyv squares are there in the following figure?

T Bloe =il Lo Ad ode S5 o

GET IT ON
Google Play

A. 24

B. 25

C. 26

D. 27

C. 26
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94 I Ul ufkwe i Hroarret, @ faaet (P), (Q) (R), (S) 30T (T) B UM a1e’ Ay SfIeh M
TR &1; AR @TelTd gt ST .

P. $¥U de@Ths UTgH, 30 Id g ATdl Aol Ud Bid. AT RIS 813, [oaRT S AT Sl
4IPS TesTall.
gﬁwwwm,wﬁ,wﬁmmwm&mmwﬁw
R. TEIUP! Q IGd TN SMEIRT! fewd Bieh. U0 GgTd Sadh AIdT, Jara! MY $=y fGud g,

S. T&T AdHAIHs U Fadh gIdl, T Qo Sl UTdal. Aadhd of qd St Igaat.

T. T S el SRt 3981 giall [ el Yax, The g4 fawdrd.

QAT SedFaR WU BIvId aTad Ufee 3a?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. All the other ducklings made fun of the ugly one. Unhappy in the farm, the poor duckling ran away to
a river nearby.

Q. It bends to drown but abandons the idea when sees its reflection in the river, which was not an ugly
duckling, but a beautiful swan!

R. Of the ten, nine ducklings looked like the mom. The tenth one was big, grey and ugly.

S. A farmer had a duck, which laid ten eggs. Soon, they all hatched.

T. At the river, where it wanted to get drowned, it sees white, beautiful swans.

Which of the following should be the FIRST sentence after rearrangement?

ostex @b O iabla (P)e (Q)¢ (R)« (S) sl (T) wsllsm =8 23 a8 ey« iaad i jio sy Al S il | Sima b S
s S

P L8 (o bd S S5m0 law coml )l me CueS | 68 ) 131 Slha oS Mg &ijpan o jsa S o e,

Q. Sl S elgh e o5n D) smad a5 slen g 0o LY il an La S (Bl ndl ) gl B i ) Sl g
& s Gy s sal

R. e a5l YIS 18 Y5 ) g, 8 7 s (S Ule (il 2 S5 55 ¢ e o,

S. G o s il ¢ ala | 0 o 3 e i ¢ feay S g S i,

T. LeS0n aly Gy g i e il ol Lila lagad o b e L,

b ln doaddaa b Sy S S ioby

AS
A.S
A.S

B.P
B.P
B.P

c.Q
c.Q
C.Q
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D.R
D.R
D.R

Answer: A.S
A.S
A.S

95 3w Wrefifeciear 3feRT=aT HHId HIE! 31eR TS Pail 3TRd o T HHM Jiel fededr uaiaiie! Th 3mg

ab_ccabc _c_bcc

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in
that order as one of the alternatives below it.

ab _ccabc _c_bcc
2SS e D) S e Calid (SO S 028 Giga (S8 (e gm ioa S e b

ab_ccabc_c_bcc

A.ccac
A.ccac
A.ccac

B.cccc
B.cccc
B.cccc

C.abac
C.abac
C.abac

D.abcc
D.abcc
D.abcc

Answer: A.ccac
A.ccac
A.ccac
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96 (9)3 + (2)3 + 3(9 x 2)11=?
(9)3 + (2)3 + 3(9 x 2)11=?

(9)3 + (2)3 + 3(9 x 2)11=?

A.625
A.625
A.625

B.700
B.700
B.700

C.765
C.765
C.765

D.1331
D.1331
D.1331

Answer: D.1331
D.1331
D.1331

97 fR1e/ WLS UAUU Aad § HRUIE] Tad Bl
The teacher makes an attempt along with the projection of the slide for —

= BS (S il gl S 8805 ) S T3l jafi -

A Rreaar A 3for Jefda fiyo gragor

A.Adequate and relevant mixing of the exhibit in teaching
A.Jlaxin) Aileia ) canlio 1S ilai (e ailss

B.faemafe waRkem
B.Entertainment of the students
B.zti S usale Gl

C.fa=meaf=r IRum 20t

C.Motivation of the students
C.o8 Aham (S sale Qs

D. I PTGt el

D.None of the above
D.od LS = 0
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Answer: A RiadT gy 3for Seferd o grago

A.Adequate and relevant mixing of the exhibit in teaching
A Jlaxin) filaia ) canlia 1S iilai (e arlss

08 12:46 a1 fafAe 3for I BRI HIUTAT HIT 3A?

What is the angle between minute and hour hand at 12:467?

12:46 S0 i msl ) L S Ul sme (S g8 )5l Siie

A.97°
A97°
A97°

B.107°
B.107°
B.107°

C.1563°
C.153°
C.153°

D.7°
D.7°
D.7°

Answer: B.107°
B.107°
B.107°

99 SR . &urd B TeAdRAl Bbahd o fHaH U6 6 v THTeTdr 3id

The probability of getting at least one 6 when three unbiased dice are thrown together is

Ol (Sugy oIS Jlala e o G o OIS IS S el B Sl oS i S

A.71/216
A.71/216
A.71/216

B.91/216
B.91/216
B.91/216
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C./72
C.A1/72
C.1/72

D.5/216
D.5/216
D.5/216

Answer: B.91/216
B.91/216
B.91/216

100 I Weile 93Ald Ueh 3userdl BIEl SraEfael HIg. Sealreal Saiddr Hrar oA @ 21
Fegrar fasg arsen 457

of the following will be opposite of ® ?

i oy =i IS o e sl B s S Ll fos LS H83 L Sl e Jlgar S ity
..'-'\S_ga ol

| -

Answer:

101 CAERIICAREIE g1 I 3Tg —
The Kanha National Park is in the state of —

= O e Sl Jldi LS
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Answer:

A IR YT
A.Uttar Pradesh
A.gi i A

B.BxTe
B.Chhattisgarh
B.a X Luiea

C.3{fel U=
C.Andhra Pradesh
C.uiwn BTSN

D.HH U
D.Madhya Pradesh
D.Jia n ~m e

D.HH U
D.Madhya Pradesh
D.Jia n ~ma

DHIoTT Ry TRt Teradr uut 3if¥id g e fagH Ia?
Under which condition the visual aid appears to be more suitable?

§ 2 S usse o) Al (g pay e Alls S

AT TaTal fawd gy g 3ol useie 3rdl degl
A.When a subject is lying at a far too distant place
A= 5 iSs 53 59 G g sase Sl aa

B.Sicg] [aNgaden UcgTRich Hetd Si¥d degl
B.When the subject is having historical importance
B. = beS) cual A )l snse

C.Sicgl fawgax a7id TxgdM BIvar BRd deH 3d

C.When the subject is too small to visible the class
C.obser O 1 S 68 S0l pnse

D.a3d 9d
D.All of the above
D.alai o) 5S3a

D.ad Id
D.All of the above
D.alai s sS3e

GET IT ON
Google Play
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Answer:

GET IT ON
Google Play

AT : DTl U UHTd G fagm | o1for 11 faeia 3imed. 8 faum Thar W SRUT 3y Adbdrd fdvar Wad
HRUM RO 3R IHdTd. TiUH! U fGUM SR A uRomT e[y W), Gie! faem™ arr T

WU Ul ITRIET U 7 alg! faummeRa Segi= guiH Hdl o ol

ICRIGE
|. JTHIOT HRTTd SRe fUugr YA died 3118,
II. R HRTIA gR= fUUaTe UHTU died 3iTg.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer

choice correctly depicts the relationship between these two statements.

Statements:
I. Rural drunkenness is increasing.
II. Urban drunkenness is increasing.

Sl 53 e Jlsms oy 2 1 | g 1T 551 il o 8 00 -0 s 5 ) S Sy 351 e b sy 315
O G IS Qa8 8 0 2 A8 (S Alead gl a5y by (sisn o S 5 31 1S 2 s (lay Sl s (e iy

o US Sad S b e 5 S iy s

il
| — = L s Adlal (e 05 S Gl (e sl
-2 b s Al (e 8 S Gl pd (ae s 0 -

AfSUm | HRUT 3 3foT faem 11| = aivoms Sg:

A.Statement | is the cause and statement Il is its effect;
Al i Ol | sl Gl sl s |l o TS Gl

B.TAYM 1| HRUT 311 311foT fAeT= | = uRume 31g;
B.Statement Il is the cause and statement | is its effect;
B. smi gl Il aei Ol Hsl s |- = AT S

C.TaYT | 31107 11 ST Wi HRUN 3R,

C.Both the statements | and Il are independent causes;
C. el Glly 5353 | sl sl 1o Sloga s A1

D.faem | 37 11 S5 PTal TH HRUM TRUMH 3iTed

D.Both the statements | and Il are effects of some common cause.
D.owd @bl Gsiga | aed sl 1o SIS S ey ) (S

D.faem | 377 11 S5 PHTal ITH HRUM TRUMH 3iTed

D.Both the statements | and Il are effects of some common cause.
D. i @iy ggisa | ety -on QA S ey S) (oS
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104

Answer:

105

DIV Uch HT-d! IRRTT 3Gsd Alal?

Which of the element is not found in human body?

f 2 Ua Wl 3 e s (Sl paielid 8 (e ()

AFIREH

A.Magnesium

A prinSae
B.hIftw

B.Chromium
B.axes S

C. UGy

C.Aluminum
C.atia gl

D.did

D.Copper
D.Lu

C.uguay

C.Aluminum
C.atime gl

PV HRATT g T &l HHerTd 3Tg?
Which India state borders Pakistan?

= e e b 08 g aa e (S JBASL

A XTSRRI
A.Rajasthan
Al

B8R
B.Haryana
B.~b

C.JIRRdS
C.Uttarakhand
C. 3¢S 5l

D g0t BIurag! et

D.None of these
D.ud &S = el

GET IT ON
Google Play
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Answer: A TSR
A.Rajasthan
Aol

106 LI W wyiae fodedn gatardeT Jeftid sieR/RIsaiRe fHasT.
APPLE : 50 : : ORANGE : ?

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

APPLE : 50 : : ORANGE : ?
.wﬁuﬁaaw/hﬂ/uydﬁn:mddm.qc‘éddcu...\.qd\}ud:aa,\;)mU'_mu

APPLE : 50 : : ORANGE : ?

A.54
A.54
A.54

B.60
B.60
B.60

C.66
C.66
C.66

D.56
D.56
D.56

Answer: B.60
B.60
B.60
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Answer:

108

A= el usied gy fRrgrean SR (2) 19 AsA?
0.07 x 1250 + 0.02 x 650 = ?

GET IT ON
Google Play

DIRECTIONS: What will come in place of the question mark (?) in the following questions?
0.07 x 1250 + 0.02 x 650 = ?

Sy 8T LS Kn S () G ol e S5m0
0.07 x 1250 + 0.02 x 650 = ?

A.625
A.625
A.625

B.545
B.545
B.545

C.61.5
C.61.5
C.61.5

D.100.5
D.100.5
D.100.5

D.100.5
D.100.5
D.100.5

DIRECTIONS: In the question below, select the related figure from the given altematives.

Problem Figures:

Answer Figures:

>

W../;\' < ?
(A) (B) (C) (D)

A1

B. 2

C.3

D.4

°

>

D

<

L

(1)

©
(2)

(3)

(4)
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109

Answer:

110

Answer:

B.2

WTeiterte! G dTad HId ?

ATTG SRUMETC SITUTR B ST ATl a=TIRE! GuRal.

B.IT1d ¢RUMAR SIUMR &1 ST TTdTd dIRIRG! IR,
C.7Td eRUIRATE STTUIR 81 STdHT TTaTd aiTaRE! TRl
D.7TTd &RUMER STUMR &1 STdHT TTaTel araTaRE! ol

C.7Td ¢RUIRATE! STTUIR 81 STdHT TTaTd a-iTaRE! TRl

U doeR YTde UgyUT gIuaTd HRUT -

Heavy metal pollution of water is caused by—

2 By s s S S G50 (S S e (s e

A0
A.Paints
A, Osiin

SNICEEICE

B.Wood burning
B. — 2k Su3N

C. 31T Iyl
C.Acid Plants

C_ LJJ};\?SMH”\

D.UTU®! Tl ATat

D.None of these
D. b s &S oo )

A0
A.Paints
A, Osii

GET IT ON
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111 SPIRIST, T ATIRAT TR FHoll HAB-........eoe yfard sqa

In a food chain, the solar energy utilized by plants is only—

d@}fdw\@h\)ﬂs@dw\:au)kéujdﬁsuuﬁ)yss:@dg\

A.10 Ufaerd

A.10 percent
A.10 1ai

B.0.01 Ufawrd

B.0.01 percent
B.0.01 1w

C.0.1 ufa=d

C.0.1 percent
C.0.1 1ap

D.1 Ufd=rd

D.1 percent
D.1 aad

Answer: A.10 gfaerd

A.10 percent
A.10 1a

"2 e fEeredr IRIdehT S9! (HEaS) FEUINT Al e e,

DIRECTIONS: Find the odd figures from the given four figures.

oS S Gl e aED jla B o tGbly

J\.J'-) (ks | (“L-f)
R -LC —)L,(“ L

~
(A) (B) © O

A. (A)

B. (B)

C.(C)

D. (D)

Answer: D. (D)
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113 39 JalteaT avTid, JAed g1 MHEaT 7 HHIGH Yo 318, SR i-dd I g 17 9 318, IR FoaTd AT
RAfgdd R fabdd 2

Rohit is 7 ranks ahead of Sonik in a class of 39 students. If Sonik’s rank is seventeenth from the last,
what is Rohit’s rank from the start?

39 LS an LS e 555 S Cug ) e o s o JATAS )0 WS Sig RV o Bda 50 7 s S gy (e 008 (S (56
o
=

A.(1)14d
A.14th
A.14th

B.(2)153d
B.15th
B.15th

C.(3)16d
C.16th
C.16th

D.(4)17d
D.17th
D.17th

Answer: C.(3)16d
C.16th
C.16th

114 QI TReATET g1 11 3HTg STIOT T ATa! 693 T8, SR Udh SAT 77 3:d, IR GIR] ST HlaT?

The H.C.F. of two numbers is 11 and their L.C.M. is 693. If one of the numbers is 77, find the other
number?

$oS B i | pusd 58 2 77 s S R 2693 s (oo J S O s 11 S Ui 50 il o

A.99
A.99
A.99

B.119
B.119
B.119

C.154
C.154
C.154
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D.231
D.231
D.231

Answer: A.99
A.99
A.99

115 12422+ .. 92 ] Uhh A 3ih

A1
A1
A1

B.2
B.2
B.2

C.3
C3
C.3

D.7
D.7
D.7

Answer: D.7
D.7
D.7

116 THTAT U B3 318 d. T SaRi=AT HIaHT JHGH YUard aRaM darqd 3Tg. f[d=ards § 3l

Rama has many friends. She is blessed with the ability to understand others feelings she is known to
have

:gwgéw\5|J|)$y:»&§h&é:«;&u§&hhjw\.uA\éé)ﬂ}db}.%&y}ﬂ:&%éu)

A 3R Jafads
A.Interpersonal
A dis Tl
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Answer:

B.3{TcR agfads
B.intra personal
B. Jiw 15

OR CEARIRER]

C.spatial
C.ould Ss

D U HIudg! et

D.none of the above
D. o &S oYz

A 3MTR Jafadd
A.Interpersonal
A iy 50

GET IT ON
Google Play
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117 LI G faum SftT R aiF e, | 3foT 11 fea simed. € faum amHia: Td SRR oeT i st
TR T RT3 FHT. [t Sl Fpy feaen faumias Ta®! Hledl I3, UHhd! § IRl
AT 3T, gH IR gfId .

faem:

UPhs! Hida! B! ATal.
A

. 99 Pligs Higsar 3Med.
IIl. Thg! Pide! Bleo! -Tal.

DIRECTION: Two statements are given following by two conclusions, |, and Il. You have to consider that
statements to be true, even if they seem to be at variance from commonly known facts. You are to
decide which of the given conclusions can definitely be drawn from the given statements. Indicate your
answer.

Statements:
All hens are cocks.
No hen is black.

Conclusion:
I. All cocks are hens.
II. No hen is black.

uﬁdﬂm#u}mkjdéﬁwujajbghf_ |cJ}\||_L§i§ALJLm«L4{.}aJUgA:}{SJ%)§\ gﬁﬁdh&ujd&i\lﬁ;ua}}s%\.
G s L) 50 DISS —e Cibalifi s o WS JLEA) il sk (A s e psadd S 0 SOl GBS i
<« S

Ol leal:

U & e U e alad

= o S e S
i

lom U e & e ol
= o S & e s S

A. o spY | 3Y 3T

A.Only conclusion | is valid

B.3de fApY || 9Y 318

B.Only conclusion Il is valid
B_ LJ)A II = kLh.uJ.A

C.arg! ey 3y simed

C.Both the conclusion are valid
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D.glel Fshy 3dy 3med

D.Both the conclusion are invalid
D.ow daie) i oA 5ig0

Answer: B.%da fAshy || Y 311%

B.Only conclusion Il is valid
B_ d)m II = kLh.uJJ

118 GHTERM 40 fHd RpEe damad 260 Ufd frd e aeucd! I e, e g dare fHsomdt
fasht R 210 T Ta. Ufked dara fhHad S 3R

The shopkeeper mixed 40 kg refined oil with vegetable oil worth 260 per kg. Thus he gain %10 after
selling the mixture of the two oils. The price of the first oil is

S i b (S S8 ez b o W gl S8 S Gaame s K LF60 S Jiilba o) 8 K40 o laiso
=S Gad S8 Ao o6 S Jala®10 2

A.20
A.20
A.20

B.25
B.25
B.25

C.45
C.45
C.45

D.fAf3d &ar ad el

D.Can’t be determined
DU 50 (gt o slae

Answer: Dﬁf%’a HAT Ad ﬂTép[

D.Can’t be determined
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119 AT : WTeitd U UHTd G fagr | ofor 11 faeia 3. 8 A Thear W SRUT 3y Jdbdrd fdvar Wad
HRUM RO 3RY IHdTd. TiUH! U fGUM SR AU uRomT e[y e, Tie! e arT T
WU HIvTT ITRTET U4 a1 gig! fauiadia deuie auie sl d 3ar.

faem -

|. WIS defep 1 HeTaaTargi-T Wate! GadT BRUgTITa! TiedT quTedT e Ue aTd auidie fRI&0T J[edb 00
IR aTead STe.

Il MDY IGH 1T HRTAaTerdi- fbHdid da1e SRITe! e Y[ehId d1g dbai ATl

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:

I. The Private medical colleges have increased the tuition fees in the current year by 200 percent over
the last year’s fees to meet the expenses.

Il. The govt. medical colleges have not increased their fees inspite of price escalation.

by 5 e Jlsm oy o 1 | ool 11T 50 by moom 8 00 -0 S 5 Sl S lsa g ol 51 e b a3
O Al 8 a8 Ky 2 A8 (S Alaid gl a5y iy (5350 o WS 50 81 S 2 g0 (Ol Sl i e UL
= U8 ol e S S Gl gl 0 S iy gsis

Sl

| — ndlal va 200 e e S G (S Jlw ey ope J g 1) 2 S S8 £ s lal AL 5 0 sallS JSte Sy el
s

I LS G adlal (ae (b () 5 o adlS JSiie IS s 25a 5k S dlial (e s -

AfIYM | HRUT 3R 3MIOT fAeT 11 = uiRune SR
A.Statement | is the cause and statement Il is its effect;
A, e gl | e O ol sl - 2 AT S Gl

B.faem 1| HRUT 31g 3fUr faem | e aikomy are:
B.Statement Il is the cause and statement | is its effect;
B. s g ll s gl oyl o] - = AIS

C.faum 1 3nfor 1 QS TadT HROY TR
C.Both the statements | and Il are independent causes;
C. sad Sl sisd | sl ) 11 -0 Slsa g 313

D.faum | 3M1fOT 11 St HTB! Y HRUT URUMH 3.

D.Both the statements | and Il are effects of somecommon cause.
D.owed Gl sisn | s o) 1o SV S aa s S (oS

Answer: D.fauT 1 3M1f01 11 S St HTEt ATHRT HRUM GRUMH 318,

D.Both the statements | and Il are effects of somecommon cause.
D.osed Gl sisn | s D) 1o SV S aan s S (o8
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Answer:

121

3 x A d T HHI Ged fdhell 3 A1d BUS df 9ol 9 §a?

What is the least value of A for which 3 x A is a perfect cube?

A3 2 S oo 0S8 0B &S SXA T o e LSS

A.2
A.2
A2

B.9
B.9
B.9

C.20
C.20
C.20

TR HA 3 ClaX” T Wb BV 3HTgd
“Last Man In Tower” is authored by —

=S S O e Y

INCLERIG]
A.Chetan Bhagat

B.3Rfdg arghm
B.Arvind Adiga
B.&3) aig )

C.31fH=T FAurd?
C.Amish Tripathy
C.etly i il

pRIECIEI R

D.None of these
D.ust 258 o el

B.3Rfdg 3
B.Arvind Adiga
B.&SS i)

GET IT ON
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Answer:

122

Answer:

123

D.50
D.50
D.50

B.9
B.9
B.9

GET IT ON
Google Play

SISO RIS A A6l HRUT FRI&® HoR T8 A0 THSUAT Tl U AR S0 HaAdH 39l §

RIERSHRRL KEI

Learning to dislike algebra because the teacher is rigid and requires much monotonous drill illustrates

the principle of—

2 s s S O3 Gl el sl o it Sl s (S e LS il ) penll

A3

A.Conditioning
A Sais

B.3Nu=nRe R

B.Formal discipline
B.lua 5ok e

C.UR& <itgr

C.Motivational intensity
C.oad e 5

D SIYTdH® HSRUUN
D.Perceptual rigidity

D.wad S ) gead

A3

A.Conditioning
A Sais

! B0 g SPTRIGHI IS 3

Which among these is an example of intellectual disability

= e Sl (S 653 (S Qedle G (S s e ()



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

Answer:

A fSifoaaT (@ Siemdn)
A.Dyslexia
A.oS e il (S a5y

B.USILTS!

B.ADHD
B.uiglus o)

c Hfddea
C.Mental retardation
C..) A el

D.3{1TeeH (qHIdT)
D.Autism
D. s i

c.HfdHca
C.Mental retardation
C.loa el

GET IT ON
Google Play

124 DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar
in meaning to the underlined word.

The fans waited for hours to catch a glimpse of the celebrated actress.

A.Glance

B.Accessory

C.Venhicle

D.Movie

Answer: A.Glance
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125 LI 31igul uRwse i HRugrat, @l fadd (P), (Q) (R), (S) ST (T) 8 Urd ard) A Sfeh
R &T; IR @TelTd gt ST .

P. $¥U de@THs UTgH, 30 T4 g ATdl Aol Ud Bid. AT RIS 818, [oaRT S dIgd Sacs ]
AdIdh S TesTal.
%q%aww%ﬁ,wﬁ,wﬁmmwmwmwﬁw
R. TEIUP! Q IGd TN SMEIRT! fewd gich. U0 GgTd Sadh HIdT, Tl M0 $=0 fGud g,

S. T&T AdHAIHs U Sadh gIdl, T Qo St UTdal. Aadhd of qd St Igaat.

T. T S e SSRIdT 3581 gialt [ el Yax, The g4 faddrd.

JTET HeaR Weaud! HIvTd i fawR 3ra?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. All the other ducklings made fun of the ugly one. Unhappy in the farm, the poor duckling ran away to
a river nearby.

Q. It bends to drown but abandons the idea when sees its reflection in the river, which was not an ugly
duckling, but a beautiful swan!

R. Of the ten, nine ducklings looked like the mom. The tenth one was big, grey and ugly.

S. A farmer had a duck, which laid ten eggs. Soon, they all hatched.

T. At the river, where it wanted to get drowned, it sees white, beautiful swans.

Which of the following should be the THIRD sentence after rearrangement?

ostex @b O iy (P)e (Q)¢ (R)« (S) s (T) wsllsm =8 23 28 ey iaad i jio sy Al S il | Sima b S
e els S

P L8 (o Ld S S5 o law coml )l me CueS | 68 ) 131 Slha oS Mg ojpan o jsa S b e e,

Q. Sl S elh el o5n D smad sa o659 slen oy 0o LY il an La S (3l e 02l ) gl B i 31 Sl g
& s Gy s sal

R. e a5l YIS 10 Y5 ) g, 8 7 s (S Ule (Gl 2 S5 55 ¢ e o,

S. G o s il e ala | 0 o 3 e i ¢ feay S g S o,

T, LeS0n aly Gy gumr i e il ol lila L gad o b e L,

§ s Ug It alea L 058 2 S i3y o jlso

AP
A.P
AP

B.Q
B.Q
B.Q

C.R
C.R
C.R


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

Answer:

126

D.S
D.S
D.S

AP
A.P
AP

fcer: Jrelid gy, e ufareite! e Wsaran riquf i wiurdT sRia?

1. SR
2. 3ffeT
3. 9%
4. fgud
5.9

GET IT ON
Google Play

DIRECTIONS: In the following question, which one of the given responses would be a meaningful order

of the following?

1. Ocean
2. Rivulet
3. Sea

4. Glacier
5. River

9§85 i i 3od ine S D~ paie Sl L S ae il 80 6ne ) sas 33 aa aie 1l

1. o~
2. Subis
3. e
4, yuil
5.4,

D4,2,1,3,5
D4,2,1,3,5
D4,2,1,3,5
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Answer: B4, 2,5, 3,1
B4,2,5, 3,1
B4,2,5, 3,1
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Answer:

128

IT: feeied T ovTe o STeR Flal.
DIRECTIONS: Find the odd one out from the given alternatives.

S UG S e o e e ol K 1

Adi®
A.Walk
A. =3 da

B.YTq0l
B.Run
B.Ljse

C.3au
C.Move
ClLSS a

D. 4l
D.Read
D.la 3,

D. 4l
D.Read
D.la 3,

YIS LT TelTel AT gof .

JTU, __ UCF, BFM, JHU

DIRECTION: Complete the following series.
JTU, __ UCF, BFM, JHU

-0 S deSe S 3o i aapaiercylay S )

JTU, UCF, BFM, JHU

A.0YZ
A.0OYZ
A.0YZ

GET IT ON
Google Play
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Answer:

B.JCZ
B.JCZ
B.JCZ

C.OCF
C.OCF
C.OCF

D.JCZ
D.JCz
D.JCz

A.OYZ
A.0OYZ
A.0YZ

HHINTHT SUARTHTS! GTURe SHTUR IpT A1 FUrSt

The noble gas used for the treatment of cancer is

= o s s Jlexind (e gle S juis

APITA

A.Krypton
A S

B.giferaw

B.Helium

Bl

C.NSiH
C.Radon
C.oi

D.3RI
D.Argon
D.cR)

csM
C.Radon
C.0i

GET IT ON
Google Play
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130 T fedien T aiTes o STe) P,
DIRECTIONS: Find the odd one out from the given alternatives.

5RO S S o e ope ol K e

A.DEGJ
A.DEGJ
A.DEGJ

B.QRTW
B.QRTW
B.QRTW

C.JKNQ
C.JKNQ
C.JKNQ

D.YZBE
D.YZBE
D.YZBE

Answer: C.JKNQ
C.JKNQ
C.JKNQ

131 AdermEm 3
Electorate means

= the I8 54

A3 T4 ATRIS ST g HRoarT ST FRasumae s wfafeh FHasuamr siiieR o

A.All the citizens who possess right to Vote and elect their representatives in an election.
Al O eS) B 8 8 ol o ailad S 0 gA (e GRS gl Sigy s e alai

B. ST Q1T <=ITd JIg0ardl DR 318

B.Those people who have right to live in a country
B. - —ieS) 3 8 )y ae S SO ia Slo g

C. U1 AT Fiedl Uiafei=1 fHaguara siferar gt
C.Those people who do not have right to elect their representatives

C. SieSo 0 B 1S S8 e g itlad S 358 52 Sl

D. ST ag <uaren iR 3ig
D.Those who have right to be elected
D. iy =65, 88 8 s diia sa Sl o
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Answer:

133

A3 T4 ARIS ST g HRoarT ST FRasumae sad wfafeh FHasuamr siiieR o

A.All the citizens who possess right to Vote and elect their representatives in an election.
Al Gp S5eS) 3 S S e o aiiled S 058 (e LIRS ol Sigy 5 el plad

13 ThgdRT 2010 o 30 AR 2010 AR THUT feaui=ht Te w1 31?2
Find the number of days from 13 Feb 2010 to 30 March 20107

138028 asbae lani S (333 S5 2010 g ke 30 = 2010 s 3

A.45 feag
A.45 Days
A.4502

B.46 fdayq
B.46 Days
B.46.»

C.50 fgaw
C.50 Days
C.50¢»

D.48 fgaq
D.48 Days
D.48:»

B.46 fdad
B.46 Days
B.46¢»

RG] 3% ATRATSS JUHHTID U WTad Mg
UNESCO has as one of its many promising activities, a campaign to provide—

ol B — ¢ Sl i e s S (S e2e 5 s Gy Sl ) S

A TeXg TWidid 94 Werara! fRiemr

A.Education for all adults of the member nations

Apiei S sl alai S a8 () )
B I Ta! , Hithd, ffart urfies fRieror

B.Universal, free, compulsory primary education
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Answer:

C. U T3T 31T i1 A1 d e

C.Free education to those who desires it
C.r S iy ) gn ailai e 1S K4l )

D.TaTeTd Yids FHSIaur

D.Indoctrination against the dangers of communism
D.eJ\.ﬁa\ uhé&\)&ée}}’mﬂ

B. e Ta , Hithd, 3ifaard wrufiyes Riemr

B.Universal, free, compulsory primary education
B.alai St e )Y cchia ¢ 8l

GET IT ON
Google Play

e, HIT ST ST 99T TUIRR 6:5 3TR. 15 au{-dR T g7 ONRR 9:8 3&d. AT IeHH ag

P 387

At present, the ratio of the age of Maya and Chaya is 6 :5. After 15 years the ratio of their age will be 9 :

8. What is the present age of Maya?

€ LS sae sasnse (S U 5918 i 1S Gy pae (S o a i 15,2 6:5 ol sasa 0 1S s e (S Llen L) Ll

A21dY

A.21 years
A21 Jw

B.24 %

B.24 years
B.24 Jw

C.30 I

C.30 years
C.30 J

D.40 9%

D.40 years
D.40 Jw

C.30 %

C.30 years
C.30 Jw
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Answer:

GET IT ON
Google Play

B TH =t ugd S off UBTS e SSRIURI SFRTE TR fhal SHTARTHT R HRUaT

ORI SITd 319

was the method used to drive away evil spirits or forces from a possessed person.

Ul S 8 S Ud L o) Had u padd Sl o Jlexin) I ea o aly ko

A.dgfeg WRa

A.Magical practice

A. des Fgdla

B.ISES

B.Exorcism
B. s Slea

C.3HTd IRId
C.Evil practice
C.dee s

D.gTup! 9d
D.All of these
D. st 0 82

B.&sh

B.Exorcism
B. s Sl
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I GIetd feeiedT UYHed H1g e SNfiT o1l fsh s S1ed. JH-aTd: J1d TAT0eT d ales SRdid )
fEaret faem greTa I AFd! AnTdiel S1for AR feaied f[aemre sl fademie! oiurdr fssy
dTfchareted] el d BRal.

faem -
M>A2B=QsP<JsY
frepy -
LA=Q
. A>Q

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly known
facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
M>AzB=Q=sP<J=sY
Conclusions:

LA=Q

IN.A>Q

e gl S lia Sl s jshale Sl 81 dsa e il eaS ey S Gl g2 (e s Jid aa e 1Ll
s Alahie aai Las S LS L (e i ~S (G )S Alad IS byl ey ) 0eS) e glad iy K 0ol e 58 &K S
= USSR

Gl
M>A=2B=Q<sP<J<gY
e

A=Q.l

A>Q.ll

AR e | et TR 3118
A.If only conclusion | is true
Ay R o G pd aagis

B.@R 19 Il § Giolal (shY WX AAgid

B.If neither conclusion | nor Il is true
B. AN sl G Gyt (o3 (58 e e @l

C. R wad Il ey WRT 38

C.If only conclusion Il is true
Coraii Ciyea RV | = oy

D.R | fdhar 11 It Ueh FAspy TR 318
D.If either conclusion | or Il is true
D_;\U)\u:m);@\fuﬁéc_ﬁm
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Answer: D.dX|fdaril WWWWG{@

D.If either conclusion | or Il is true
D. S sl = i pn ) s e s

GET IT ON
Google Play

137 LCARIGIN]! {‘Iq\"l M I T ®1Y Hed 72 cTel UUT Uh RS gd’)S'le‘d«l ARG 311%

ddldu Jraeiel di =R 3 fabdl @R s 3ed?

A cube is painted and cut into 72 smaller but identical pieces by making the minimum possible number

of cuts.

How many smaller pieces have exactly three painted faces?

05 35 e in S i g KT ES (e S oS o WS UIS S0 K (e 558 72 s S S S )
¢ R unofi)aed Soa S

AA12
A.12
A12

B.8
B.8
B.8

C.36
C.36
C.36

D.24
D.24
D.24

Answer: B.8
B.8
B.8

138

Answer:

GATSITUIT T Regral FAMTT Weg YoM 2

ASITR]T
B.gU
C.hBhD

D.Uxdl

B.gUTd
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Answer:

'SOMNAMBULISM' TRJ ETeTdl XeG 0! IV Jeq TR i ST, Jhald?
Which of the following words can be formed from 'SOMNAMBULISM'?

L sS s o B 53 5334 'SOMNAMBULISM' s ok Ly

A.BIOME
A.BIOME
A.BIOME

B.BASAL
B.BASAL
B.BASAL

C.SOUL
C.SOUL
C.SOUL

D.NAMES
D.NAMES
D.NAMES

C.SOUL
C.SOUL
C.SOUL

GET IT ON
Google Play

140 THTaRUT TR HidTes 1 geeT SOl AT aTse UHTaifauRi Hifgdl UeRd 3fwsd 3. & A3t it

ST T IUINT BRG] ?

An EVS teacher wants to disperse the knowledge about Bhopal gas tragedy and its ill effects.

What teaching aid should be used here?

230 LS (S Gl Jhe L = Uils Whey Sale (e o b Sl QA S Gl ) dala S Gal Jlysee 20l S Gl 55 ) S
¢ s LS Jlasinl

ATREY
A.Posters
A S

B. 0%

B.Leaflets
B.osblad
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CER
C.Banners
C.ow

D.3iffg il fegsygaret fafti

D.Audio visual clipping
D. K4l (5 yay o

Answer:  D.3iTe3T fgsgarat foaftr

D.Audio visual clipping
D. K4l (5 yay 5

141 O @elTe 991d StRTder Tl S qai et 3nddia eardier Jedr 3idsd 37

DIRECTIONS: In the given question find the answer figure in which question figure is embedded.

Question Figure:

nE

(A) Ej

(B)

() fJ

O
O

(D)
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Answer: D IJ
“ J [§
|
142 Glellel 92=Td, feeiedn iHe gl T&dr faast.
In the following question, select the missing number from the given responses.
53 GS sl s e seS Dt il ¢ el S o
4 5 10
36 49 2
2 2 2
A. 144
B. 55
C. 100
D. 64
Answer: A. 144

143 i1 3R] e bl SIS, Whd-

Evaluation can be expressed as—

= Bl LSl JLENS panis

AR SATIOT HTS i eI B IiTa AT Iy 3mg

A.What is good and desirable from the point of view of individual and a society
A = csthe o5l (A LS —w Hhiahl S o pdlee sl gl dl

B. YR T Y fosar Ufehan = 7 Feid dxa

B.Evaluation determines the value of a thing or procedure
B. = LS 0wi 1S )38 (S S A5k b ji (oS (adlli

C Reifrp 3P foba Tdfd Moen Tear 3R - 2= fRvfg Bu geaie

C.To what extent the Educational objectives have been attained—the judgment is called evaluation
C.=2 Ul LS (ot S aliaid (e 2 (8 (S Juala S0 as (S Gl alal

D.ad 9d
D.All the above
D_?LA:} bJ}S;\A


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

Answer: D.aﬁﬁﬂﬁf
D.All the above
Dok 5 5S3
144 TSI 3T YhT3! ST TS UIedTs HTd Ud T, SR 30 S AR STdTd WY 3T

faemata sraera e o onfdr faemdf ik fRdia o R gt s fofa wma

Suppose you are hurriedly rushing to your school in the morning. Meanwhile your eyes go across the
road, where your student has met with an accident. What decision will you take under this critical
condition of the student?

Sl Ol e B51 o ST ool b S5 Gl Lo ) S Gala mia a1 S JSl i ala sala Gl (S (a8
S1€ s Al LS 1S G cin Sl (S5 ol oS le a1 g _ila ale il

AT 3T 3HISE - GRITAT ST [SHTUME gR SR
A.You will go away from the accident’s site in anonymity
A S Gils ol u Bs (S Al u pisela S

B.3{TYUT 3TYTaTedT fEhTof SIrg- faemeat o UUHuER d

B.You reach the site, look after the student and give him first-aid
B_U:HC'QJJ.\A‘_“\L‘;\AS,\\ c.u\ )}\uﬁdﬁd@@iéaéécd\k ‘uﬁciuﬁ):\iu\.uu‘

C. 30T fay FYH SIUIR HROT ST SHIGIH YU SR O35 Sfasd gl

C.You are escaping because you do not want to take risk unnecessarily
C.om —ila Wl Gadoyhd 5 jsh s e I ASGeS G K 5 )l Gl

D.3{THTd 810 § U TTeRich Ted 3R 3TN 318 e I

D.You are expressing the accident as an adventurous game.
D.oy S8 5 osh S S —wa S ae S LI ala o,

Answer: B. 30U 3{OETArA {3t S fa=mal o TuHu=R I
B.You reach the site, look after the student and give him first-aid
B.oy S 33e b G il sl S8 e 65 (Sple @l G Sadg oy Sile

145 Hhe ol EIRSLIGIRIE

Muscat is the capital of-
= Sl b
A 3{IE

A.Oman
A.S ol
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Answer:

S ANTUTS AUt ST JRTiAee R 47 3iT8, a) 3for

B.%ad

B.Kuwait
B.oS cu s

C.gus

C.UAE
Cé C'_I‘JLA\ e sdala

D.AeRaed
D.Netherlands
D.S 3

A3
A.Oman
A.S ol

GET IT ON
Google Play

T AT 3MTed

The difference between the square of two consecutive numbers is 47, then the numbers are and

w0 e gl e e te 2 S 4T7 38 e o e S dae) Judisa 92

A.24,25
A.24, 25
A.24,25

B.23, 24
B.23, 24
B.23, 24

C.22, 23
C.22,23
C.22,23

D.21, 22
D.21, 22
D.21, 22

B.23, 24
B.23, 24
B.23, 24
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147

Answer:

148

[T el Aol Widide T e,

DIRECTIONS: Find the mirror image of the figure given below.

S LS K jusSeo aiidl oS K 8 s i 1ally

T st

Main Figure
Jes sl

N

ITATETST TATT ATHeaT

Answer Figure

S el s

TS S USTHTITS! aTuRedT SITon=aT HRiFer Furdrd

The machine which is being used for exhibiting slides is called—

= Ul LS S Gadie g s et Al S (iilad (S S0

A fhe UoigeR

A.Film projector
A a5 plh

B. XSS UleldeX
B.Slide projector

B. a5 360

XL ECARR

C.Tape recorder
C. 380 @

GET IT ON
Google Play
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D g1t Hivrde! et

D.None of these
D.ow @58 = e O

Answer: B.mm
B.Slide projector
B. a5 363

149 T T URATA U U4 fAURIad IR faU™ 3Ted Saf=arard! A, B, C 30T D 31 R fau 31ea.
HHIR fquHi St fHaeT same wud faur g=an faumrar gaad, $iftT gl fau™ afbamesear wa
faereed fAfed s

A. IS Feadr

B. ST daalcl! ATg!

C. AP STV A'S T AT

D. AT ST dis o1d anTe e

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If the capital is shifted, the people will face difficulties .
A. the capital was shifted

B. the capital was not shifted

C. the people faced difficulties

D. the people did not face difficulties

i S s Sluie Guand G B S0 i ST ) e o) ea e am S o alea SOl Gae g s 1y
op Gitbe S ln S e Ahie lea 53 H5l by JSe sl (S alea 2 pusd Alea Sy (L

S ol Gl e S oS 55 L LS Gl Sl s R
ALL LS il e Sall la .

BLS LS (ayd Gl Caa Sl

Cosl Gy i S &4l

Dol U Ui <Sia S R0

A.AC
A.AC
A.AC

B.BC
B.BC
B.BC
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C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

Answer: A.AC
A.AC
A.AC

150

Answer:

UrRN= Wepiean A Hrea forrean Sfieares § gid 3

According to the ancient Greeks, and excess of Black bile was said to cause

= s G S I SOL S U LS ) Gilhae S sailig a8

INEG]
A.Anxiety

B. Ry

B.Depression
B.oxi s

C.YIa"d TR

C.Emotional intolerance
C.dly pod Jbda

D.3ll¢
D.Mania
D.gs>

B. Ry

B.Depression
B.ord 3

GET IT ON
Google Play
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15876 T QIS 3R = ?
Square root of 15876 = ?

15876 ¢ = Qg e S
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Answer:

152

A.128
A.128
A.128

B.126
B.126
B.126

C.124
C.124
C.124

D.122
D.122
D.122

B.126
B.126
B.126

frder: faciean siep wifcrabelel b il | <NT:

7,9,12,28.5,73,242.625

DIRECTIONS: Find the wrong term in the given number series:

7,9,12,28.5, 73, 242.625
256S i hale oz gl 8 oo Cyly

7,9,12,28.5, 73, 242.625

A.242.625
A.242.625
A.242.625

B.28.5
B.28.5
B.28.5

C.73
C.73
C.73

D.12
D.12
D.12

GET IT ON
Google Play
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Answer:

154

C.73
C.73
C.73

PRI G RH DIV FIIfSd drer sgd?

Which are the relevant waves in telecommunication?

fon 30 ol Allaie (o 5S (e COLal 50 At

A.&-fxur
A.X-rays
Aol

B.g/cic fdh 0l

B.Violet-rays
B.osiled Culil

C.HaHIded

C.Microwaves
C. s 580k

D. 0! Id
D.All of them
D.sgrm e )

D. 0! Id
D.All of them
D.sems = e O

GET IT ON
Google Play

Group can form as a result of repeated interactions between the group members

o s o i S le Jlobals S ) e S s S S (S s K e oS

ATD
A false

ALl

B.aRIR

B.true
B.rass
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Answer:

155

Answer:

C.Udoh HTgId ATl

C.Not sure

D.TTUD! Thg! A6l

D.None of these
D.ust 258 o e O

B.&RIR

B.true
B.z>a

GET IT ON
Google Play

20 T JTUR 31 RIM T Hh e [qd Rid dxa U [R1efd TATRI IHeE Jeld Heyy arRdl H ¢

ST UeT HH g IR THIT 3Tg. AT IUHHTET I

A teacher uses the following riddle in a class while developing the concept of base 10 and place value

‘l am less than 8 tens and 4 ones.’
The objective of this activity is -

2 S i 1S (L s i il Sl g0 S DS S 3 S Rla) Gl (S Gl sl 0§58 S 10 sl

UnaS e osSI 4 sl 058 8 !

AT PTa! Holl HRUI T FHeTesl g Bl

A.To have some fun in the class and to break monotony
A S S S8 e ol 5l US ) 628 (ae 2

B.20 STYRTH Yoo AT R Hed TURH! HSIgd Bl
B.To reinforce the concept of base 10 and place value
B.2 S Slihsune S el g 58 (S Gl Ho) ki S10 s

C. AT Gedich Bl
C.To do summative assessment
C.A S S8 et sl sien

D.faemat ggmue Snfr uetwr a1 fawath Gaea o1 uftad <o
D.To introduce the concept of tens and ones to the students
D. = S iy 5ei S G588 51 sia S e

B.0 JTYRTH! HeheUHT I RITH Hed STURG! Holgd PRl
B.To reinforce the concept of base 10 and place value
B.2l S Slidlasuas S el g )8 (S Gl gl moki S 10 oan
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Answer:

157

GTete bt HIUId TP HRUT Slafafauda dbierd g?
Which one of the following strongly threatens biodiversity?

?da#mjsgujji\ﬁﬁkg:uwscauﬂmdglgjﬂa

A AT TR0l RIS SIaRIT S H1d SHTT0T UToTies S

A.Fragile ecosystems such as mangroves and wetlands
A. Gl sl 508 s s 5501 S

B.feHTera Aehd suarerdd Maawie

B.lnaccessible habitats in the Himalayas
B. o8 (il (s JIEL (e millay

C. e Sfferare nfor st - offor e arTas
C.Destruction of natural habitats and vegetation, and jhum cultivation
C. cuilS agen sl el (S stsy ) o8 il 8

D.ITh IR Traar fAffd

D.Creation of biosphere reserves
D. Gaas (S 5,00 ol sl

C. AR SHferars i st fHm=r Sf1foT A= artas
C.Destruction of natural habitats and vegetation, and jhum cultivation
C. S asen ) el (S Ussy sl o8 L) 3,8

e srpdTe, O § 99@m &7% A, agamT @ 17 347 9g. 9 OC = 8 ¥+, wde

A7 ST AB =T =idT:

In the given figure, O is the center of the circle. Radius of the circle is 17 cm. If OC

= 8cm, then the length of the chord AB is:

GET IT ON
Google Play

AB g OC = i GluBndl | Gk 17 gl s L Saa B oyl O .o o o5
] PP LY
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158

Answer:

159

D. 18 Jo}
18 cm
18 e (i

B. 30 9Ht
30 cm
30 i (ine

ez & Rispad -

Television imparts teaching of—

2 B8 il S ol (S 05y M

A TRAGdTe! WHT

A.Realistic nature

A ks RGN

B.JagHIARIP GHG

B.Comprehensive nature
B.ohd aals

C. I g FARSH

C.Proper entertainment
C.md i

D.a¥d Id
D.All the above
D.f“L“S DJ)S:JA

D.a3d Id
D.All the above
D.alai 5 ) sSaa

WTeitd Ueh! BT IRRTET TIR HRUIR TBUH NesEd Sa?

Which of the following is known as body builder?

e Ul ol S il 3L LS s (e i ma 3

A FEERIC
A.Carbohydrates
A Sy 55 S

GET IT ON
Google Play
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160

Answer:

B.Sllaad

B.Vitamins
B.owbs

D.UIcH
D.Protein
D.os s

D.UIcH
D.Protein
D.os s

faved g
Nuclear families

Ol (A 5) (5 e

A T4 Tpdine faqed Aear e

A.Are equally important in all cultures
A. G e sk USa G o 8 Al

B. Y4 YpaiHe IR UhR ST el STTdTd

B.Are organized in the same way in all cultures
B. ox Sisphie w7 ok (o S e 05 Bl

C. gaieaT FHISBRUMTS ! | SaTEeR 38

C.Are universally responsible for the socialization of children
C_ uﬁ)\)ﬂh#cbugbc‘ﬂéoﬂéméuﬁ

D §gd% WPdIAed HTeesard, okl qafdt Bid agde sifere gaferd srd ast.

D.Are found in a majority of cultures, although alternative forms are often more prevalent.
D. Uy =l 2 Ore a1 S G 5i8lE (S (G J e 0aly ) S o e Jalie aa SI

D.§gd% WPdIAe HTgesard, ol qafdt Bid agde 3ifere waferd srd asi.

D.Are found in a majority of cultures, although alternative forms are often more prevalent.
D. 0y =l 2 Ore a1 S G g8lE (S (o J e 03y ) S ol Jalie aa 81


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

161 LI AP UAS THHE S fAuTHaR i Fsme 1, 11 ofdn 11 e e=ifaa sied. g0 agia
AT TATERISR Jeod e axt Weldl [ T TR 3R Tl 1T feied faemias dob T
T faean fspuftet Hiud 9 smed o 3T,
fda:
| TER TR TR,
HIE! TEX Wa! TR
fm:

Wa‘@s"rznﬁ&ﬂ%?r
II. PIUde! WS TR T8l
IIl. PTET WSl TR 3MTed.

DIRECTION: In each of these questions there are two statements followed by three conclusions
numbered [, Il and Ill. You have to take the given statements to be true even if they seem to be at
variance from commonly known facts and then decide which of the given conclusion logically follows
from the given statements.

Statements:
All cities are towns.
Some cities are villages.

Conclusions:

I. All villages are towns.

II. No village is a town.

[ll. Some villages are towns.

e 0l G S o g =8 0 il 50 e lse SO g e e il e ] ) (I il 28 0 Sl 8 0
i K (S S S abad e sl o ) DB e S Bilis aglae y jshiale oy an 81 LS alud cas S
xS om S Sl 8 o sk ke

bl
op O3S o 43S

da:

I - e 38 e

1. - = s b 38 535S
1. - e O3S g2

A Fdos B 1] Fgd STy
A.Only Il follows
Aia Il = G S 55

B.®%dx sy | ud e,
B.Only | follows
B.dyal U S sm

C.%da sy || fgd ey,
C.Only Il follows
Ccall = BS s
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D.gTUP! HIuTa! ATe!
D.None of these
D.ox 258 = U )

Answer: A $Hds ey (1| fFad s
A.Only lll follows
AGia [l = 6 S 55w

162 IO HI AT g, s Mo uroft giear emra A1 Iaalar gxfda?
Which of the following diagrams indicates the best relation between Elephants, Wolves and Animals?

2 Bl i e e d S sl sl Ul 0l ) SUIS (o S e (e D i

@

(C) Dé‘.)

(D) @
Answer: (8)
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Answer:

G ETeid Yeg ot ST G IRMTIR ATSUR B,

(i) Divide
(i) Division
(iii) Devine
(iv) Divest
(v) Direct

GET IT ON
Google Play

DIRECTIONS: Arrange the following words according to the English Dictionary.

(i) Divide
(i) Division
(iii) Devine
(iv) Divest
(v) Direct

-0 S e S Bl 3 s ke (Bilae S il g5 K1 1yl

(i) Divide
(i) Division
(iii) Devine
(iv) Divest
(v) Direct

AL(v), (iv), (iii),(i), (i)
A.(v), (iv), (iii),(i), (ii)
AL(v), (iv), (iii),(i), (i)
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164 I GeadlsH SHHID 3Te

Child helpline number is

= o GY by Sy

A.1098
A.1098
A.1098

B.1099
B.1099
B.1099

C.1088
C.1088
C.1088

D.7098
D.7098
D.7098

Answer: A.1098
A.1098
A.1098
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LI QT fGaiedT UHTd Ues e $iTg SaT | 31707 11 3R g Feah s cmaTett Sifdhd dhaiet SMTed. a1 SR
Yatd g yafa FHaer.

faem:
U1 A1y qmesd Qodt =t uRlel GUIR Id faemdf usien Il Sl A= & M uRie s9a g,

fepy:
1. Fef= ot 3ol g,
I1. A wdierd vyH ®IH edTad.

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and II.
Based on this choose the option that is most suitable.

Statement:
In a certain school all the students appearing for class 10 exams passed the exams. Nitin appeared for
exam in the same school.

Conclusions:
I. Nitin passed the exam.
[I. Nitin topped the exam.

g0 amy Sl Sl ae Vs 28 0 i il | sl [ - S QA S il s 3se (Sl oy S ol om0

e

e

L ladel s JsS) (a5 8 W S Gl glatia) S sale Gl alad )y laial 810 et DI (e J s (ala S,

=
LGS Gy gl s,
. WS Q8 (e olaial 5 (5,

A $Hae fshT HHIS | AU S8 38

A.Only Conclusion | follow
Al Gopa | B 5 &Y

B.%aes kY Hi® || AU SIaeH 318

B.Only Conclusions Il follows
B.assii Gy || K 50 KY

c.Fnd waid | f&har 11 sras 3mg

C.Either | or Il follows
C.ALIK 5 SY Sy e

D PIUATe! fFAehd o el
D.Neither | nor Il follow
Dl os 118 5 G SY o (A8 e e


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

Answer: D.ﬁﬂﬁﬂﬁ fspy SRGESH] T-|'I€)f

D.Neither | nor Il follow
Dl os 118 5 Y o (A0S s e

166 AT S1dquf Uiy fFmfor sroararet, @t fGaedt (), (Q) (R), (S) 30T (T) & U aTe’ TRy S1IehdM
T HT; AR ETehd Wi ST .

P. $¥U 9e@Ids UTgH, 3 T4 d¢dh Ardl A9l °d §id. ATdS RIS 819, [9aRT Sad dIgd STaes e
eI

Q. A eI g IR fdaR HRdl, U0 Aaid, P g aR U] Yo a9 Y Hldfdd arg= ot faar

g ol

R. T8IU®! R T I ATSURW! fGTd Gichl. TUT GB1d §adh HIaT, IS S0 $=4 f&ud g,

S. U1 AdH=UThs Uh 9GP gidl, T Qo 3l GIdcll. Ah<d il ¥d el Jeaai.

T, 7 S el STt 351 gid fad e Yer, Tihe g9 foddr.

JASEHT HedHdR WUt HI0d ared UTad SRe?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. All the other ducklings made fun of the ugly one. Unhappy in the farm, the poor duckling ran away to
a river nearby.

Q. It bends to drown but abandons the idea when sees its reflection in the river, which was not an ugly
duckling, but a beautiful swan!

R. Of the ten, nine ducklings looked like the mom. The tenth one was big, grey and ugly.

S. A farmer had a duck, which laid ten eggs. Soon, they all hatched.

T. At the river, where it wanted to get drowned, it sees white, beautiful swans.

Which of the following should be the FIFTH sentence after rearrangement?

ostes &b o) 1@y (P) (Q)¢ (R)¢ (S) s (T) ushhsme =8 o5 a5 jen ¢ S o jliss A S | ym swe by S
—anola S

P8 (b S 0o hsn ool coml )l (ae eS| g8 205 130 Sl S s a2 G5 S by ol

Q. S AL gl el 05 Sy smad 3 o659 (slen g e L el a Ld S (Bl Jise ol ) gl B ) S sl
L el Gy e 53

R. L G 5ol YIS I8 Y15 ) gud gz b (S le il 2 Ssa 5 ¢ e o,

S. 0 o e i) a0 2 T (e e gt Sl Gl S e,

T, LeSen ay oy gem 3 s il (g lla W sa3 o b o2 L,

ec\fl% L‘}T’ DJA"L' ‘d“‘é L U}S Az é C‘JJ “—‘.'3.'3)3 ")L.'JJ
AQ

A.Q
A.Q
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B.P
B.P
B.P

C.S
C.S
C.S

D.T
D.T
D.T

Answer: A.Q
A.Q
A.Q

167 91 gd 3MTe" 1 favwamaR fRrerad srydr1 e faemeai=r @reita vy faardra Ardiaed gar sig &1 2!,
qTofid gaT 318 17", "3TUT TR 84T TR Wil I Sy o Ripumaiae) fieRia suamn
UTd 3Med ? H17?', ' BTSId gal 318 BT ?

While teaching the topic ‘Air is everywhere’ a teacher asks following questions to the students
‘Is the air in soil?’, ‘Is the air inside water?’, ‘Is the air in our body?’, ‘Is the air inside the bones?’.
Which one of the following skills is the teacher trying to develop in learners?

= e s Vs 3 e s el il S Gl 90 S s adled (S S 15" @ s
L e e Ul LS NS o Vg s s o L WS TT s (e S LS TS ) Gae Sl LS

§ 2 LS GRS (S S o e sl s ieSams bl G Bla (o 058 s (e 3 2

A TffBR0T HRUTTE DI

A.Classification skills
A.cnlia (S gan a2

B.faR e SR
B.Thinking skills

C.HIaN® DI

C.Emotional skills
C.candla (S alis

D.fAdteror wiwra

D.Observation skills
D&l S e ylia

Answer: D.fA3temn PR

D.Observation skills
D.Cbse (S 2ol
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Answer:

169

GET IT ON
Google Play

fafR1y Tidsfae UTHHESR SYMPHONY T Xlsc HBNKSLMB & Heatq dal Sild 3d, PICKLE 8T Xsq

T U HT Hedeg bl SIsa?

In a certain code language if the word SYMPHONY is coded as HBNKSLMB, then how is the word
PICKLE coded in that language?

Lil S e b)) S b (e saie S SYMPHONY S HBNKSLMBLE (e by ol 55 ¢ = bla S PICKLE <

FE AL

A.KRXSNR
A.KRXSNR
A.KRXSNR

B.KRWPLV
B.KRWPLV
B.KRWPLV

C.KIXPOV
C.KIXPOV
C.KIXPOV

D.KRXPOV
D.KRXPQOV
D.KRXPOV

D.KRXPOV
D.KRXPQV
D.KRXPOV

16% T 3YUNBTd TUTR BRI
Convert 16% into fraction.

16028 dadl (e mos S Jad

A.2/25
A.2/25
A.2/25

B.4/25
B.4/25
B.4/25
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C.6/25
C.6/25
C.6/25

D.5/25
D.5/25
D.5/25

Answer: B.4/25
B.4/25
B.4/25

170 BERRINER R
EG, JL,?, TV
DIRECTION: Complete the series
EG,JL,?, TV
38 S Sz sl Culy

EG,JL,?, TV

A.PR
A.PR
A.PR

B.QO
B.QO
B.QO

c.0Q
c.0Q
c.0Q

D.RP
D.RP
D.RP

Answer: C.0Q
C.0Q
c.0Q
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Answer:

172

ARIB D Thdh
Unit of heredity

S s

ATURE

A.Chromosome
A.e)ﬂ)‘))s

B.5I{$
B.Gene
B. ks

C.Pford o=it

C.Fertilized cell
C/\:\XA \1\} JL@S

D.giHy
D.Lygote

D.& &y

B.ol &
B.Gene
B. s

GET IT ON
Google Play

I Teie FIATG 3 3 9% H1ed sara] TOETel [aiarse Haer 31g. F5 T Hatl aoeredr S g
gYfaaeT AT, Uold® add ofl HIHR SdEl AET Ol TR e Aidi-cd sld. 390
A ETEAT HaTT WTele TeaHeaT AT .

DIRECTION: The guestion below has three items having certain relationship among them. The same
relationship is expressed by sets of circles, each circle representing one item imespective ofits size. Match
the items with nght set of circles.

e bl LS Ll B L a3 e ] S sy IS e e S e B U e e U e penly

M il S i Dy S g s S Ty S il o il Sl s gl g s

% 5 @D

(C)

OOO

(A)

Educated persons, Engmeers, Doctors

A1 el 1Sy Al b

A. (A)

B. (B)
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Answer: D. (D)

173 LI feoiea Aifedian SIaciydd S SR 3707 Jeltd JHi 3T .
1d 7 - 30 819, TU S, Freh! ST, Il ST, HYD, TR 10 deic S el Iid Al Ardre
TR BIVIR TR (SRR & 813 Jdl SRR JUd) d ThE HHM Bldid & TRord ATg!. U]
AR $acs Thd I A Bl 913, Jbd. e SFIIR Hdd G Jd AT dhall ST,
1o 30T deic ST G dhdes G J IS dal Sidiet. U S 101 HYds FiedTdia dhaed di-
T SRR el ST, < - JaHed SHTATd SIVIR ATgl. {3 810 siefl ST 3for dvep! g omeft
TSI ol e (T et Srcia 3 ATEY). del SR Iieh! ST STl dhal STad (ra e
et 3R ATE).
It ST PIvTAT Afg=Td AT el SR a?

DIRECTIONS: Study the given information carefully and answer the given questions:

Seven Dances -Hip Hop, Tap Dance, Yangko Dance, Belly Dance, Kathak, Salsa and Ballet Dance are
to be held on seven consecutive months (starting on January and ending on July) not necessarily in the
same order. Only one dance can be held on one month. Only two dances will be held after Ballet
Dance. Only two dances will be held between Salsa and Ballet Dance. Only three dances will be held
between Tap Dance and Kathak. Tap Dance will not be held on July. Hip Hop will be held before Belly
Dance and Yangko Dance (not necessarily immediately before). Yangko Dance will be held after Belly
Dance (not necessarily immediately after).

Belly Dance will be held on which month?

o e SOl K ) (aady e e S e gles b as ke 1y

03 0% e 558) Lsiae SRS il I3 iy 5) Ll oSS eS¢l S8 il i il G — il
OIS SQ) e (e e S -2 U S5 ma Uiy e i 3 O 1S 0 e Sl oS it (e (s S s e Y s
- S s daie (I3 50 Capea (e pd S GuilS Ly ) Ll 8 g Saie GuilS 50 Gy g S il Ly . UiSuls LS Siaia
Db o3 ol e 1S Gl G g (S (e (Y s 2l IS il . S () 0 diaie il (5 G e e pd S S 5l GuilS
Ot 3 1 ysh (5 58) W diaie amy S (il (i il SEIL (2 0 s e g s o s) B o oails S&0
(= o Gos e

9K o dinia (pe inee S IS L

A STHART
A.January
Acoss

B.BgaRt

B.February
B.sos A

C.HE
C.March
Czlw

DT
D.April
D.dy
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Answer: D.Qﬁﬁ
D.April
D.dy

174

Answer:

YRATIA qared [qHMTS DI 3182
Which is the Highest Airport in India?

o8 (s LSy (ladsh el ) s s e Sl

NG GEE))
A.Leh (Ladakh)
A. F1) A)

B.facet

B.Delhi
B. .

c.Hs$
C.Mumbai
C. e

D. S
D.Bangalore

D. L&

A.TIE (dIGT)
A.Leh (Ladakh)
A. &) )
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175

Answer:

176

A.

HIAT: @iellel YT Tehlel BIRIAT IR Jaedl gafdedr 3gd. weedid dureear egrear
faeey arefe HIvrT feg 3¥e?

DIRECTIONS: In the following questions four positions of the same dice are shown. Select the symbol
opposite to the symbol as asked in the question.

oo Jlsw 57 2 iz o5 caalle ol g &8 Gl il Lz WS spul 50 Sl ipue Usllsw = S 2 g to bl

~ g1 Fegrear fascy arslen v [Heg 3de?
Which symbol will be opposite ta svmbol =7
Tdse 2o o8 plin + glav Luigs +

1] ()

fder: Treita Uy feden sgiaRr S aied.

here/ bright/ pride/ stout

OR ¥ YegiHl YsGDIRAIHR AU el TR BT s Ulgedl shHIBTR Usel?
DIRECTIONS: Following question is based on the given words.

here/ bright/ pride/ stout

If all the words are arranged according to Dictionary then which words will come first?
o Jaidie pigadl 20 Jlgm S dis Culyy

here/ bright/ pride/ stout

[EWRIEE HD VI PRELY ANWENSE SIS PEe
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A.Here
A.Here
A.Here

B.Bright
B.Bright
B.Bright

C.Pride
C.Pride
C.Pride

D.Stout
D.Stout
D.Stout

Answer: B.Bright
B.Bright
B.Bright

177 L RACICNEAC G | Ie—— !

AT
B.IRTA
C. 7l
D.ATu%! w1

Answer: D.HTaﬁ ﬂ'qc

178 qiee Il BIUaTd 0T 36% 3HTRd. SR faemater 72 o1 fiwrel 3for <l 18 IoTi A1ar i1al, TR
qRIEdd ST ST T0T:

Passing marks in an examination is 36%. If a student gets 72 marks and fails by 18 marks, then the
maximum marks of the examination is:

S Oladal (58 s g alSE w5503 18 sl o S dhala 51 72 Sale Gl S R _9%36 et Kauly e (laial S
= s edhy el )

A.100
A.100
A.100
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B.200
B.200
B.200

C.250
C.250
C.250

D.400
D.400
D.400

Answer: C.250
C.250
C.250

179 Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Definitely
B.Compleetly
C.Incidently

D.Immegiatelly

Answer:  A.Definitely

180 8 qEW AT 10 #iTET U Fw 5 RawFia F& sowara. 12 757 A0 12 7iZer T w1 3= fFawim o

8 men and 10 women can do a piece of work in 5 days. 12 menand 12 women can do the same work in
1 . ;
37 days. In how men days 2 men and 7 women will complete the same work, working together?

0337 205k o plS counl 9512 gl ool 12 -t 35S a0 03 5 oS Sl w08 10 gl el 8
T o 0)S JaSo o ugin =5 plS S Jo 987 gl a2 - u i sS geo

A. 15
B. 14

C. 21

Answer: B. 14
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181
Grellel 99T Ueh A idael gEiaen A AT dF Fablel Hdhdl FEOIA Algen 6. HEg=ar

A=A dleid diadedrd Hadl dorhl 3Hddl a0 H THd § Jesien atarge 8.

DIRECTIONS: In the following questions, a design is given, marked as kev figure. You have to
determine which will be the exact view of the original key figure seen from the reverse side of the paper.

wked 8 Kbl AS 2 LS o S0l o Wplid 8 S0l g v U8 Lo B o Jlgan S5 i 1Ly
T s w8k nill 08385 kin

e g

Main Fizure
S el

-

Answer Figure

A. (A)
B. (B)
C. (C)

D. (D)

Answer: B. (B)

182 Out of the given options, choose the most appropriate one to fill in the blank.
They since four o'clock.

A.have been playing
B.has been playing
C.have playing

D.has played

Answer: A.have been playing
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183 P & Qg% AdT=a1 @I YA 3118, Q & 6% P 1 EAT UTEHe 376, R 8 WX Q 1 ERI=AT gdel 3Tg,
U P 97 8- UIYAT 3], S § X8R T AT XexT=l Yddll 31T, g Q d R IT Xexi<aT Ufier 3fre. & 9d
6} AR EIURH JHM SRR S HIUd e AR 311872

A town P is located on the river valley. The town Q is in the west of town P. Town R is east of town Q but
west of town P. Town S is east of town T but west of town Q and R. If all these towns are situated at
equal distances from adjacent towns, which town is in the middle?

AP ot @l S S8 S Q Ot Pt - e w0t SRS Q ot S e B0%e SP e S
b @0 S S T b 08 e B S Q UV R o S50n w52 S i alai g RV - o jre S
S ot el LS S on adly ) S nln

A.P
AP
AP

B.Q
B.Q
B.Q

C.R
C.R
C.R

D.S
D.S
D.S

Answer: B.Q
B.Q
B.Q

184 ‘ HHIGR TSl * T IR 371 BT ?

ATBREUE! BTGl
B.9gWqUl U AUl

C. T4 HfNd &xul
D.&esfdul

Answer: B.goqul Waﬁf
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185 I YD URATAT U T faUMiiad IR faem™ sgd Sai=amard! A, B, C 3101 D 3 IR faum siie.
HHIR faumT SISt fasT Same wd fau™ gu=a faumran gaad, ST el faum dfdamesear vE
faered fAfed s

SR g1 fue uelRia siran, &R o arg fFaio s
A. femue veRRia e

B. e uefRia smar gt

C. I faare fHfor dar

D. I fare fmfor Far g

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If the movie is released , it will create controversy .
A. the movie was released

B. the movie was not released

C. it created controversy

D. it did not create controversy

in S O Se Sluie paand g R S w i S 63 ) ue oo ) e s an Sea o alea SOl G Vs iyl
op Githae S ol S e GBhie laa 93 Hgl by So Wl gl (S Ales o pugd alea Sy (L

S o 81568 ne )i 5 g b ol R
Asts 8 5 3y ol

Bt s o oy A

CLS 1368 ne s 3l -

DUS G 1368 ~e 5l 5 ol -

A.AC
A.AC
A.AC

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

Answer: A.AC
A.AC
A.AC
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186

Answer:

187

T faciedn Aty e s e,
e IHieT e e icgelad 3Mg ST sRiyexdl ... Had 3MTg.

DIRECTIONS: Choose the analogous word from the given alternatives.

Altimeter is to Altitude as Barometer is to
oS Sl 1S Bl gillae _w Jalgie 8 _n ey

Glaie S ooeeee Shesn 5 o Blie S lais)l R ol

A.sxd Udlg
A.Liquid Flow
A sle 8 Al

B.aT=IT=T AT
B.Wind Speed
B. L, S

C . aTd1aRuig g«

C.Atmospheric Pressure
C. 3 b

R CARICIGIER])
D.Intensity of Light

D. @il (S s

(oFC |GIC IR KAR]

C.Atmospheric Pressure
C. 3 bt

GIF g Rigiaran g Janad oar
Two factors theory was proposed by

ot o8 S Ul e ils (S S e S 5

INCE[
A.Benet

A. S

B.IMSR
B.Gardner
B.3&
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188

Answer:

189

c.fadq
C.Spearman
C. e

D.dFRER
D.Wechsler
D. sy

c.fmdq
C.Spearman
C. e !

Sroparer 7 Yearan favgrdf 2reg Hiurar 2

ABIR

B.®cUdh

C.XTETuT
D.3i=sn

D.3i=

SARTT BUS:

Alogia is

=l

AT HH g0y

A.Reduction in weight
AS U 0

B.aTHhIfad HHI gIol

B.Reduction in speech
B.S U n 8

C.7ch Bt gior

C.Reduction in speed
C.sS e )

D3 &4l g0y

D.Reduction in sleep
D. S U 2
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Answer: B.dThfad HH E‘F@f

B.Reduction in speech
B.osS e n B

190 I WUt HIoTeT e Riefd! Hg- WSTHRU ST 8IdTd

Generally which one of the following errors can be committed by a teacher during demonstraction?

€y S S 05 S (il i) JBle (o S s o slale 3 nasia y yshe gle

A ST fererean fas onfor Iy sravg au-ag usqudr! 9@

A.The mistake of making poor coordination between the topic and objectives of the demonstration
Ahle (S Sl GEAS TS (5 Ohesd S dalie sl g snge S Oy Suilel

B.fa=meat it IRom THTaUaR 9@

B.To commit mistake of losing motivation in the students

B.LS hle (S ad S 8 Aasa (e gsale il

C . VeRHTeH U@ die! said! &b

C.The mistake of long continuous verbalism during the demonstration

C.ohle (S i b S5 dulue dish ()50 S Gy fiila

D.93d 9d
D.All the above
D.olai sy sS3a

Answer: D.TRQIT'TEE:
D.All the above
D.olai o 5 5S3a

191 e YISl Yded™ & Sia-ad e S

Washing of peeled vegetables removes the vitamin

§ o lla IS0 el Lt o€ 5580 5S (5 o s il Wl

AT
AA

Al

B. &
B.C
B
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ok
C.D
C.ss

D3I

D.E
D.s

Answer: B.
B.C

B..~

192 fET: Wl SaaRT SISy T T @l e Ui Sax a:
B5R 1@E K4 F 7ODAM 2 P 3%9 H | W 8*6 U J$V Q#

Treitd feciedr gaiar Ut aiia aawyd S I g aieardia HeayTf T HIvkd TSR 38

DIRECTIONS: Study the following arrangement carefully and answer the questions given below:
B5R1@E K4 F70DAM 2 P 3%9 H 1 W 8*6 U J$V Q#

Which of the following is exactly in the middle between D and U in the above arrangement?
NI PENCRUD PRSP X P QWY P PR RS G < R BENpU JP XN JUIFIRY

B5R1@QE K4 F 7©0DAM 2 P 3%9 H I W 8*6 U J$V Q#

fonUlS @ s S ool g e 856

A%
A%
A%

B.H
B.H
B.H

C.9
C.9
C.9

D.3
D.3
D.3
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Answer: C.9
C.9
C.9
193 x2—9x+18=0 T TIHIHRUM I AR
The roots of the quadratic equation x?—~9x+18=0 are:
gy S slse xa3e X2-9x+18=0 L
A6, 3
AG,3
A6, 3
B.-6,-3
B.-6,-3
B.-6,-3
C.6,-3
C.6,-3
C.6,-3
D.-3,6
D.-3,6
D.-3,6
Answer: A6, 3
AB, 3
A6, 3
194 FIAAUD! G oG PIOTT 2
ADCE
B.P¢d
C.&ed
D.%¢d
Answer: ADed
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195

Answer:

196

Answer:

WA S[G Xeg DIV ?

A STHITO!
B.gUl
C.SaHaul
D. SRl

GauTe GURUMATS! fadge w107 arg Uha?

Who can initiate Bill for constitutional amendments?

o e S TS s S s 5 8

A e STHEHT
A.Lok Sabha only
Alps S G pa

B.IUGd PIUde! &R

B.Either house of Parliament
B.oeS S el b Sl o (B8 s e U550

C.Ha ITTHT
C.Rajya Sabha only
C.cipa L anl )

D.gTde! Thg! g1,

D.None of these.
D.u o2 25S = o O

B.IUcd HIUg! R

B.Either house of Parliament
B. S S el SO o (S s e s

GET IT ON
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197 URUIRS MBI T TR SIRA SR Tl &, RI&mr gyTdt gIograra] g TR 318

The traditional school relied most heavily on the principle that, to be effective, learning had to be -

oo ligy dae 18 g8 e Al S g0 s oS b 55030 y sl ) pe JsSd (il
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Answer:

198

Answer:

A THEUO 3eerdt

A.Affectively pleasant
Al SisA Sisa

B.ARAR 34 Hd g0l
B.Exercised repeatedly
B.L_S Bde L UL

C.31dguf

C.Meaningful
C.d 582

D.qdT=an Rieuai=ar o 1for st =it defda

D.Related in time and place to previous learnings
D. = Glaie e S sl iy il S s e oeSam Alils

B.IRAR 31T Hd g0l
B.Exercised repeatedly
B.L_S Bda b L

GET IT ON
Google Play

HqE=n ool Highdr Rel (TR A¢eE) qoT #RugEs), A, B, C. HIUTD a7 IR 9t

T 3T Hast

DIRECTIONS: Select a suitable figure from the four altematives that would complete the figure matrix.

=)=

=0|G=
a| » A

D0 (<
A. (A)
B. (B)
C.(C)
D. (D)

A. (A)
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199 LI 31iguUl uRwse i HRugret, @l faddl (P), (Q) (R), (S) ST (T) 8 U aTd) A SIeh
TR &T; IR @TeiTd gt ST .

P. $¥U §G@THs UTgH, 30 T4 g ATdl Aol Ud Bid. AT RIS 818, [oaRT §ad dIgd Sac ]
AdIHh S TesTal.
%qﬁ?{aww%mﬁ,wﬁa,wﬁmmwmwmwﬁw
R. TEIUP! Q IGd TN SMEIRT! fewd gieh. U0 GgTd Sadh HIdT, Jara! MY $=y fGud g,

S. T&T AdHATHS Uh Fadh gIdl, T Qo St UTdal. AaHhd ot qd St Igaat.

T. T S el SR 3981 gialt [ el gax, Tihe g9 fawdrd.

JREAT hedHaR WIeiade! biurd arad gur 3Rid?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. All the other ducklings made fun of the ugly one. Unhappy in the farm, the poor duckling ran away to
a river nearby.

Q. It bends to drown but abandons the idea when sees its reflection in the river, which was not an ugly
duckling, but a beautiful swan!

R. Of the ten, nine ducklings looked like the mom. The tenth one was big, grey and ugly.

S. A farmer had a duck, which laid ten eggs. Soon, they all hatched.

T. At the river, where it wanted to get drowned, it sees white, beautiful swans.

Which of the following should be the SECOND sentence after rearrangement?

ostex b o) 1y (P)e (Q)¢ (R)6 (S) sl (T) st s =8 28 2 ey ¢ i i o Jlgs ) Sl 1w e by S
s S

P L8 (o bod S Seaiosn o law coml )l me CueS L 68 ) 131 Slha oS Mg cjpan o jsa S ko e,

Q. Sl S elh el o5n i) smad a5 slen g 0o LY il an La S (Bl ndl ) gl B i 31 S sl g
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D.Q
D.Q
D.Q

Answer: A.R
AR
AR

200 Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.

A.Winnar
B.Worthwhile
C.Whether

D.Wednesday

Answer: A.Winnar
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